Format for Advertisement in Website

Notice for appointment of Regular / Rural Retail Outlet Dealerships

Hindustan Petroleum Corporation Limited proposes to appoint Retail Outlet dealers in the state of Punjab as per following details:

| SI. No | Name of location | Revenue District | Type of RO | Esti mat ed mon thly Sale s Pote ntial # | Category | Type of Site* | | num Dimen ea of the si M.). * | | arrange | ce to be ed by the dicant | Mode of Selection | Fixed Fee / Minimu m Bid amount | Securit Y Deposit |
|--------|---|------------------|------------|---|-----------|---------------------|--------|-------------------------------------|------|-----------------|---------------------------------|----------------------|---|-------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | | 8 | | 9a | 10 | 11 | 12 | |
| | | | | | sc | | | | | | | | | |
| | | | | | SC CC-1 | | | | | | | | | |
| | | | | | SC PH | | | | | | | | | |
| | | | | | ST | | | | | Estima | | | | |
| | | | | | ST CC-1 | | | | | ted workin | Estimate d fund | | | |
| | | | | MS+ | ST PH | | | | | g | required | | | |
| | | | Regular / | HSD | ОВС | CC / DC / | Fronta | Depth | Area | capital require | for develop | Draw of Lots / | | |
| | | | Rural | in KLs | OBC CC-1 | CFS | ge | | | ment | ment of | Bidding | | |
| | | | | | ОВС РН | | | | | for operati | infrastru cture at | | | |
| | | | | | OPEN | | | | | on of RO | RO | | | |
| | | | | | OPEN CC-1 | | | | | , KO | | | | |
| | | | | | OPEN CC-2 | | | | | | | | | |
| | | | | | OPEN PH | | | | | | | | | |
| 1 | WITHIN 5KM FROM BATHINDA RAILWAY STATION, WITHIN MUNICIPAL LIMIT BATHINDA | BATHINDA | REGULAR | 110 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |

| 2 | ON MAIN ROAD, IN MODEL TOWN PHASE 3 AND 4, WITHIN MUNICIPAL LIMIT BATHINDA | BATHINDA | REGULAR | 110 | SC | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
|----|---|----------------------|---------|-----|----|-----|----|----|------|---|---|-----------------|---|---|
| 3 | ON NH54 (OLD NH15), BETWEEN KM STONE NUMBER 253 TO 256 ON LEFT HAND SIDE TOWARDS BHATINDA(AMRITSAR - BHATINDA ROAD) | FARIDKOT | REGULAR | 150 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 4 | ON NH-703, MANSA TO BARNALA ROAD, FROM KMSTONE 169 TO 175 (RIGHT HAND SIDE) | MANSA | REGULAR | 150 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 5 | LOPON LINK ROAD, VILLAGE LOPON, DISTRICT MOGA | MOGA | RURAL | 70 | sc | CFS | 35 | 40 | 1400 | 0 | 0 | Draw of Lots | 0 | 2 |
| 6 | ON NH7(MALOUT- BHATINDA ROAD) ,BETWEEN KM STONE NUMBER 104 TO 107 | SRI MUKTSAR SAHIB | REGULAR | 150 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 7 | WITHIN MUNICIPAL LIMITS OF GIDDERBAHA ON GIDDERBAHA -PEORI ROAD | SRI MUKTSAR SAHIB | REGULAR | 100 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 8 | ON SH-13, WITHIN MUNICIPAL LIMITS OF BARNALA | BARNALA | REGULAR | 100 | sc | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 9 | ON ANY MINIMUM WIDTH 20 FEET ROAD, VILLAGE- SANGHOL, BLOCK- KHAMANON,DISTRICT- FATEHGARH SAHIB | FATEHGARH SAHIB | RURAL | 70 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |
| 10 | WITHIN 2 KM FROM BABA THAN SINGH CHOWK (NOT ON NH OR SH) ON ANY ROAD WITH MINIMUM 60 FEET WIDTH. | LUDHIANA | REGULAR | 150 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |

| _ | | | | | | | | | | | | | | |
|----|--|-----------|---------|-----|----|-----|----|----|------|---|---|-----------------|---|---|
| 11 | WITHIN 1 KM FROM MANJU CINEMA (OLD GT ROAD) ON ANY ROAD (NOT ON NH OR SH) WITH MIN 60 FEET WIDTH | LUDHIANA | REGULAR | 150 | SC | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 12 | VILLAGE BIRMI, TEHSIL- LUDHIANA WEST, DISTRICT LUDHIANA | LUDHIANA | RURAL | 70 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |
| 13 | ANYWHERE IN VILLAGE DHANETHA, TEHSIL PATRAN, PATIALA (ON MIN. 22FT ROAD) | PATIALA | RURAL | 75 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |
| 14 | ON ANY MINIMUM 60FEET ROAD IN MOHALI SECTOR 86 | SAS NAGAR | REGULAR | 150 | sc | CFS | 30 | 30 | 900 | 0 | 0 | Draw of lots | 0 | 3 |
| 15 | WITHIN MUNICIPAL LIMITS OF AMRITSAR, ON KHAZANA GATE TO CHABAL ROAD | AMRITSAR | REGULAR | 200 | sc | CFS | 18 | 15 | 270 | 0 | 0 | Draw of Lots | 0 | 3 |
| 16 | FROM VILLAGE BABA BAKALA TO MEHTA CHOWK ON NH 503D (BEAS BATALA ROAD) | AMRITSAR | REGULAR | 180 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 17 | ON LHS, FROM VILLAGE KAHLANWALI TO VILLAGE RAICHAK ON NH503D (DERA BABA NANAK TO BATALA ROAD) | GURDASPUR | REGULAR | 160 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 18 | ON LHS, FROM KM STONE 430 TO 440 ON NH44 (FROM PATHANKOT TO JALANDHAR) | JALANDHAR | REGULAR | 180 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 19 | FROM KM STONE 500 TO 507 ON NH 44, LHS TOWARDS LUDHIANA | JALANDHAR | REGULAR | 180 | sc | CFS | 40 | 45 | 1800 | 0 | 0 | Draw of Lots | 0 | 3 |
| 20 | VILLAGE KOT TIKKA KHAS ON SHAHPUR KANDI TO DHAR KALAN ROAD | PATHANKOT | RURAL | 120 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 2 |
| 21 | ON LHS, FROM KM STONE 52 TO 60, ON NH 344A (FROM PHAGWARA TO RUPNAGAR) | SBS NAGAR | REGULAR | 180 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |

| 22 | BATHINDA CITY WITHIN MUNICIPAL LIMIT FROM ROSE GARDEN TOWARDS BUCHHO KHURD ON NH 7 | BATHINDA | REGULAR | 110 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 55 | Draw of Lots | 15 | 5 |
|----|--|----------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 23 | ON KANCHIYAN ROAD, BHUCHO MANDI, WITHIN MUNICIPAL LIMITS OF BHUCHO MANDI | BATHINDA | REGULAR | 100 | OPEN PH | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 24 | BETWEEN KM STONE 163 AND 165 ON LEFT HAND SIDE FROM BATHINDA TOWARDS PATIALA ON NH 7 | BATHINDA | REGULAR | 150 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 5 |
| 25 | VILLAGE BURJ MEHMA ON NH 754 | BATHINDA | REGULAR | 150 | ОВС | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 4 |
| 26 | WITHIN 5 KM OF ITI CHOWK ON ANY ROAD, WITHIN MUNICIPAL LIMITS OF BATHINDA | BATHINDA | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 27 | ON NEW MANDI DABWALI BYPASS (NH-9), FROM CHAINAGE 40000 TO 36000, WITHIN 4KM AND INCLUDING VILLAGE CHAK KHARAK SINGHWALA URF DOOMWALI | BATHINDA | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 28 | ON MAIN STREET NUMBER 10, GURUGOBIND SINGH NAGAR (BALLA RAM NAGAR), WITHIN MUNICIPAL LIMITS OF BATHINDA | BATHINDA | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 29 | ON NEW MANDI DABWALI BYPASS (NH-9), FROM CHAINAGE (KM STONE) 28 TO 34, WITHIN 3KM AND INCLUDING VILLAGE CHAK KHARAK SINGHWALA URF DOOMWALI | BATHINDA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 30 | WITHIN 5 KM RADIUS FROM DD MITTAL TOWER, WITHIN MUNICIPAL LIMITS OF BATHINDA | BATHINDA | REGULAR | 100 | SC | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |

| 31 | ON GILL PATTI TO SIVIAN ROAD, WITHIN MUNICIPAL LIMITS OF BATHINDA | BATHINDA | REGULAR | 100 | OBC | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
|----|---|----------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 32 | 2 KM TOWARDS MAUR KHURD FROM MILAN PALACE ON FACTORY ROAD, WITHIN MUNICIPAL LIMITS OF MAUR | BATHINDA | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 33 | ON NH-148B, FROM MAISERKHANA TO RAM NAGAR KANCHIYAN | BATHINDA | REGULAR | 150 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 34 | ON SH-17, KOT SHAMIR TO BHAGI BANDAR, KMSTONE 17 TO 19 RIGHT HAND SIDE | BATHINDA | REGULAR | 100 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 35 | ON NH 254, RAMAN TO TALWANDI SABO ROAD, BETWEEN KMSTONE 46 AND 50 | BATHINDA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 36 | ON SH-17, FROM LELEWALA CHOWK TO PANJAB PALACE (LEFT HAND SIDE), WITHIN MUNICIPAL LIMITS OF TALWANDI SABO | BATHINDA | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 37 | VILLAGE MAUR CHARAT SINGH, DISTRICT BATHINDA | BATHINDA | RURAL | 70 | OPEN CC 2 | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 38 | ON KALIHIRANI KOTLI ROAD, BOTH SIDES | BATHINDA | RURAL | 70 | OBC CC | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |
| 39 | ON NH54 (OLD NH15), BETWEEN KM STONE NUMBER 261 TO 266 (AMRITSAR -BHATINDA ROAD) | FARIDKOT | REGULAR | 150 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 40 | ON NH54 (OLD NH15), BETWEEN KM STONE NUMBER 217 TO 225 ON LEFT HAND SIDE TOWARDS BHATINDA (AMRITSAR -BHATINDA ROAD) | FARIDKOT | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |

| 41 | VILLAGE GOLEWALA ON FARIDKOT-FEROZPUR ROAD SH15 | FARIDKOT | REGULAR | 100 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 5 |
|----|---|----------|---------|-----|------|-----|----|----|------|----|----|-----------------|----|---|
| 42 | ON NH54 (OLD NH15), BETWEEN KM STONE NUMBER 240 TO 248 ON LEFT HAND SIDE TOWARDS BHATINDA (AMRITSAR -BHATINDA ROAD) | FARIDKOT | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 43 | IN VILLAGE SANDHWAN ON FARIDKOT- KOTKAPURA ROAD | FARIDKOT | RURAL | 70 | sc | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 2 |
| 44 | IN VILLAGE DOD ON BAJAKHANA- BHAGTA BHAIKA ROAD,TEHSIL JAITU ,DISTRICT FARIDKOT | FARIDKOT | RURAL | 70 | ОВС | сс | 30 | 30 | 900 | 16 | 6 | Bidding | 10 | 3 |
| 45 | UPTO 2 KM FROM RADHA SWAMI SATSANG BEAS (LADHUKA) ON LHS TOWARDS JALALABAD, ON SH-20 (FAZILKA- FEROZPUR ROAD) | FAZILKA | REGULAR | 100 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 5 |
| 46 | BETWEEN KM STONE NUMBER 0 TO 4 ON LHS TOWARDS SRI GANGANAGAR, ON NH 62 (FAZILKA-SRI GANGANAGAR ROAD) | FAZILKA | REGULAR | 150 | ОВС | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 4 |
| 47 | VILLAGE SUKHERA BODLA, ON SH-20(FAZILKA- FEROZPUR ROAD) | FAZILKA | REGULAR | 150 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 48 | BETWEEN KM STONE NUMBER 20 TO 24 ON RHS TOWARDS SRI GANGANAGAR ON NH 62 (ABOHAR-SRI GANGANAGAR ROAD) | FAZILKA | REGULAR | 150 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 5 |
| 49 | BETWEEN KM STONE NUMBER 24 TO 28 ON LHS TOWARDS SRI GANGANAGAR ON NH 62 (ABOHAR-SRI GANGANAGAR ROAD) | FAZILKA | REGULAR | 150 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 5 |

| | T | | | | | | | | | | ı | | | 1 |
|----|--|---------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 50 | UPTO 1.5 KM FROM CITY WALK MALL, TOWARDS ABOHAR-MALOUT ROAD ON HANUMANGARH ROAD | FAZILKA | REGULAR | 100 | OBC | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 51 | UPTO 2 KM ON EITHER SIDE FROM GURUDWARA SHRI NANAKSAR TOBA, ON NH 7 WITHIN MUNICIPAL LIMIT OF ABOHAR | FAZILKA | REGULAR | 150 | sc | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 52 | UPTO 2 KM FROM GLORIOUS CONVENT SCHOOL, ON LHS TOWARDS JALALABAD ON SH-20 (FAZILKA- FEROZPUTR ROAD) | FAZILKA | REGULAR | 100 | OPEN | DC | 35 | 45 | 1575 | 32 | 75 | Draw of Lots | 15 | 5 |
| 53 | VILLAGE DODEWALA, ON SH 16 | FAZILKA | REGULAR | 100 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 5 |
| 54 | UPTO 2 KM FROM INTERSECTION OF SHRI GANGANAGAR ROAD (NH62) AND ABOHAR BYEPASS, ON LHS TOWARDS CELEBRATION RESORT ON ABOHAR BYEPASS | FAZILKA | REGULAR | 150 | ОВС | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 4 |
| 55 | ON PHIRNI ROAD, WITHIN MUNICIPAL LIMIT OF FAZILKA | FAZILKA | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 56 | VILLAGE ARNIWALA, ON FAZILKA-MALAUT ROAD | FAZILKA | REGULAR | 100 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 57 | BETWEEN ABOHAR BYEPASS AND KALA TIBBA TOLL PLAZA, ON LHS TOWARDS ABOHAR ON NH 354-E | FAZILKA | REGULAR | 150 | ОВС | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 4 |
| 58 | UPTO 1.5 KM ON EITHER SIDE OF DPS SCHOOL (ABOHAR), ON SRI GANGANAGAR ROAD | FAZILKA | REGULAR | 100 | OPEN CC 1 | СС | 20 | 20 | 400 | 32 | 12 | Bidding | 30 | 5 |

| | UPTO 1 KM ON NH 7, ON | | | | | | | | | | | | | |
|----|--|---------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 59 | EITHER SIDE OF INTERSECTION OF NH 7 AND OLD FAZILKA ROAD | FAZILKA | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | Draw of Lots | 15 | 5 |
| 60 | BETWEEN KM STONE NUMBER 16 TO 20 ON RHS TOWARDS SRI GANGANAGAR ON NH 62 | FAZILKA | REGULAR | 150 | SC | CFS | 35 | 45 | 1575 | 0 | 0 | Draw of Lots | 0 | 3 |
| 61 | BETWEEN KM STONE 46 TO 48, ON FAZILKA- MALOUT ROAD, ON RHS TOWARDS ARNIWALA | FAZILKA | REGULAR | 100 | ОВС | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 4 |
| 62 | UPTO 2 KM FROM RAJASTHAN BORDER ON SH-16, ON LHS TOWARDS SITTO GUNNO | FAZILKA | REGULAR | 100 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 5 |
| 63 | UPTO 2 KM FROM SHAHEED UDHAM SINGH CHOWK, ON RHS TOWARDS FAZILKA ON SH 20 | FAZILKA | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 64 | UPTO 1 KM ON EITHER SIDE BFUHS CIVIL HOSPITAL, ON LHS TOWARDS FEROZPUR ON SH-20 | FAZILKA | REGULAR | 100 | sc | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 65 | UPTO 2 KM FROM RAJASTHAN BORDER ON SH-14, ON LHS TOWARDS ABOHAR | FAZILKA | REGULAR | 100 | ОВС | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 4 |
| 66 | UPTO 4 KM FROM KALA TIBBA TOLL PLAZA ON EITHER SIDE TOWARDS DABWALI ON NH 354-E (ABOHAR- DABWALI ROAD) | FAZILKA | REGULAR | 150 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 5 |
| 67 | UPTO 2 KM FROM SAHEED UDHAM SINGH CHOWK, TOWARDS SRI MUKTSAR SAHIB ON SH 20 | FAZILKA | REGULAR | 100 | OPEN CC 2 | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |

| | , | | | | | | | | | | | | | |
|----|--|---------|---------|-----|---------|-----|----|----|------|----|----|-----------------|----|---|
| 68 | UPTO 2 KM FROM SAHEED UDHAM SINGH CHOWK, ON LHS TOWARDS FAZILKA ON SH 20 (FAZILKA-FEROZPUR ROAD) | FAZILKA | REGULAR | 150 | OBC CC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 69 | BETWEEN KM STONE 6 TO 10 ON NH 62, ON RHS TOWARDS SRI GANGANAGAR | FAZILKA | REGULAR | 150 | SC CC 1 | CFS | 35 | 45 | 1575 | 0 | 0 | Draw of Lots | 0 | 3 |
| 70 | BETWEEN KM STONE 24 TO 28 ON NH 62, ON RHS TOWARDS SRI GANGANAGAR | FAZILKA | REGULAR | 150 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 5 |
| 71 | BETWEEN KM STONE 28 TO RAJASTHAN BORDER ON NH 62 | FAZILKA | REGULAR | 150 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 5 |
| 72 | ON ABOHAR KIKKAR KHERA ROAD WITHIN MUNICIPAL LIMIT OF ABOHAR | FAZILKA | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 55 | Draw of Lots | 15 | 4 |
| 73 | BETWEEN KM STONE 6 TO 10 ON NH 62, ON LHS TOWARDS SRI GANGANAGAR | FAZILKA | REGULAR | 150 | sc | CFS | 35 | 45 | 1575 | 0 | 0 | Draw of Lots | 0 | 3 |
| 74 | UPTO 1 KM ON EITHER SIDE FROM ABOHAR BUS STAND ON BUS STAND ROAD | FAZILKA | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 75 | BETWEEN KM STONE NUMBER 20 TO 24 ON LHS TOWARDS SRI GANGANAGAR ON NH 62 | FAZILKA | REGULAR | 150 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 5 |
| 76 | ON SITTO GUNNO ROAD, BETWEEN ABOHAR BYEPASS AND ABOHAR MALOUT ROAD | FAZILKA | REGULAR | 100 | OBC | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 77 | ON OLD FAZILKA ROAD WITHIN MUNICIPAL LIMIT OF ABOHAR | FAZILKA | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 78 | UPTO 2 KM FROM CITY WALK MALL TOWARDS HANUMANGARH, ON HANUMANGARH ROAD | FAZILKA | REGULAR | 100 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |

| 79 | ON LHS TOWARDS JALALABAD, ON FAZILKA BYEPASS | FAZILKA | REGULAR | 100 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 5 |
|----|---|---------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 80 | BETWEEN KM STONE NUMBER 60 TO 65 ON LHS TOWARDS MALOUT, ON NH-7(ABOHAR- MALOUT ROAD) | FAZILKA | REGULAR | 150 | ОВС | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 4 |
| 81 | BETWEEN KM STONE NUMBER 12 TO 15 ON SH 14 (ABOHAR- HANUMANGARH ROAD) | FAZILKA | REGULAR | 100 | OPEN CC 1 | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 5 |
| 82 | VILLAGE RANA ON JATWALI-RANA ROAD | FAZILKA | RURAL | 70 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | Draw of Lots | 5 | 4 |
| 83 | VILLAGE USMANKHERA, ON USMANKHERA ROAD | FAZILKA | RURAL | 150 | ОВС | DC | 30 | 30 | 900 | 16 | 35 | Draw of Lots | 5 | 3 |
| 84 | UPTO 1 KM FROM INTERSECTION OF ABOHAR BYEPASS AND HINDUMALKOT ROAD, ON LHS TOWARDS SRI GANGANAGAR ON ABOHAR BYEPASS | FAZILKA | RURAL | 70 | sc | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 2 |
| 85 | UPTO 2 KM ON EITHER SIDE FROM JAI JAGDAMBA RICE MILL, ON ROAD TO DHANDI KHURD FROM SH 20 | FAZILKA | RURAL | 70 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | Draw of Lots | 5 | 4 |
| 86 | VILLAGE KIKKER KHERA, ON ABOHAR KIKKAR KHERA ROAD | FAZILKA | RURAL | 70 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | Draw of Lots | 5 | 4 |
| 87 | VILLAGE KABULSHAH KHUBAN, ON FAZILKA SHATIRWALA ROAD | FAZILKA | RURAL | 70 | ОВС | DC | 30 | 30 | 900 | 16 | 35 | Draw of Lots | 5 | 3 |
| 88 | ON BAZIDPUR BHOMA- NARAINPURA ROAD, IN VILLAGE BAZIDPUR BHOMA | FAZILKA | RURAL | 70 | sc | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 2 |
| 89 | UPTO 2 KM FROM INTERSECTION OF NH-62 AND PANNIWALA ROAD, ON PANNIWALA ROAD | FAZILKA | RURAL | 150 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | Draw of Lots | 5 | 4 |

| | ON SHERGARH ROAD, BETWEEN VILLAGE | | | | | | | | | | | Draw of | | |
|-----|---|----------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 90 | SHERGARH AND SHEREWALA | FAZILKA | RURAL | 150 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | Lots | 5 | 4 |
| 91 | ON KALLARKHERA- PANNIWALA ROAD | FAZILKA | RURAL | 70 | ОВС | DC | 30 | 30 | 900 | 16 | 35 | Draw of Lots | 5 | 3 |
| 92 | VILLAGE ODIAN (DIST- FAZILKA), ON ANY ROAD | FAZILKA | RURAL | 70 | sc | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 2 |
| 93 | ON ABOHAR- HINDUMALKOT ROAD | FAZILKA | RURAL | 70 | OPEN CC 1 | сс | 30 | 30 | 900 | 16 | 6 | Bidding | 10 | 4 |
| 94 | BETWEEN KM STONE NO 18 TO 22, ON SH-20, FEROZEPUR FAZILKA ROAD | FIROZPUR | REGULAR | 100 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 95 | ON FEROZEPUR TO SADIQ ROAD, RIGHT HAND SIDE FROM JHOKE HARIHAR TO MOHREWALA, NH 354 | FIROZPUR | REGULAR | 150 | ОВС | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 4 |
| 96 | ON NH-5 (OLD NH-95), BETWEEN KM STONE NO 185 TO 189, RIGHT HAND SIDE FROM MOGA TO FEROZEPUR | FIROZPUR | REGULAR | 150 | OPEN | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 5 |
| 97 | ON NH-5 (OLD NH-95), BETWEEN KM STONE NO 167 TO 173, LEFT HAND SIDE FROM MOGA TO FEROZEPUR | FIROZPUR | REGULAR | 150 | OPEN | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 5 |
| 98 | NH 703A, MAKHU TO JALANDHAR ROAD, BETWEEN KM STONE NO 67 TO 71, | FIROZPUR | REGULAR | 150 | ОВС | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 4 |
| 99 | NH-54 (OLD NH-15), AMRITSAR-BATHINDA ROAD, BETWEEN KM STONE NO 195 TO 200, RIGHT HAND SIDE TOWARDS BATHINDA | FIROZPUR | REGULAR | 150 | sc | CFS | 40 | 45 | 1800 | 0 | 0 | Draw of Lots | 0 | 3 |
| 100 | ON NH-5 (OLD NH-95), BETWEEN KM STONE NO 175 TO 180, LEFT HAND SIDE FROM MOGA TO FEROZEPUR | FIROZPUR | REGULAR | 150 | OPEN | сс | 40 | 45 | 1800 | 32 | 12 | Bidding | 30 | 5 |

| 101 | VILLAGE TALWANDI NEPALA ON NH 703A, MAKHU TO FEROZEPUR ROAD | FIROZPUR | REGULAR | 150 | ОВС | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 4 |
|-----|---|----------|---------|-----|--------|-----|----|----|------|----|----|-----------------|----|---|
| 102 | ON NH-5 (OLD NH-95), BETWEEN KM STONE NO 192 TO 198, LEFT HAND SIDE FROM MOGA TO FEROZEPUR | FIROZPUR | REGULAR | 150 | sc | CFS | 40 | 45 | 1800 | 0 | 0 | Draw of Lots | 0 | 3 |
| 103 | NH-54 (OLD NH-15), AMRITSAR-BATHINDA ROAD, BETWEEN KM STONE NO 166 TO 170, RIGHT HAND SIDE TOWARDS BATHINDA | FIROZPUR | REGULAR | 150 | OPEN | сс | 40 | 45 | 1800 | 32 | 12 | Bidding | 30 | 5 |
| 104 | FEROZEPUR CITY WITHIN MUNICIPAL LIMITS | FIROZPUR | REGULAR | 100 | OPEN | DC | 18 | 20 | 360 | 32 | 55 | Draw of Lots | 15 | 5 |
| 105 | NH-54 (OLD NH-15), AMRITSAR-BATHINDA ROAD, BETWEEN KM STONE NO 175 TO 180, RIGHT HAND SIDE TOWARDS BATHINDA | FIROZPUR | REGULAR | 150 | ОВС РН | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 4 |
| 106 | NH 703B, MAKHU TO MOGA ROAD, BETWEEN KM STONE NO 25 TO 31 | FIROZPUR | REGULAR | 150 | SC PH | CFS | 40 | 45 | 1800 | 0 | 0 | Draw of Lots | 0 | 3 |
| 107 | WITHIN 1KM ON EITHER SIDE OF SHAGUN RESTAURANT ZIRA, WITHIN ZIRA MUNICIPAL LIMIT | FIROZPUR | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 108 | ON SH 20, FEROZEPUR TO ZIRA ROAD, BETWEEN KM STONE 28 TO 33 (BOTH SIDES) | FIROZPUR | REGULAR | 100 | OBC | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 4 |
| 109 | ZIRA WITHIN MUNICIPAL LIMIT | FIROZPUR | REGULAR | 100 | ОВС | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 110 | VILLAGE KASU BEGU ON SH 15, FARIDKOT TO FEROZEPUR ROAD | FIROZPUR | REGULAR | 100 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 5 |
| 111 | WITHIN 2KM FROM SANT KABIR COLLEGE ZIRA TOWARDS MOGA ON ZIRA-MOGA ROAD | FIROZPUR | RURAL | 50 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |

| | | | | 1 | | 1 | | 1 | 1 | 1 | | | 1 | |
|-----|---|----------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 112 | VILLAGE UGOKE ON RATTAKHERA SODHI NAGAR ROAD | FIROZPUR | RURAL | 50 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |
| 113 | WITHIN 3KM ON EITHER SIDE OF GURU RAM DASS SENIOR SECONDARY SCHOOL ON FEROZEPUR CITY ZIRA ROAD | FIROZPUR | RURAL | 50 | ОВС | сс | 35 | 35 | 1225 | 16 | 6 | Bidding | 10 | 3 |
| 114 | ON SH-12A, SUNAM TO BHIKHI ROAD (RIGHT HAND SIDE), FROM KMSTONE 52 TO 54 | MANSA | REGULAR | 100 | ОВС | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 4 |
| 115 | WITHIN MUNICIPAL LIMITS OF BARETA | MANSA | REGULAR | 100 | OPEN CC 1 | сс | 20 | 20 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 116 | ON NH 148B, BUDHLADA TO BHIKHI ROAD, FROM KMSTONE 285 TO 287 (LEFT HAND SIDE) | MANSA | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 117 | ON NH-148B, FROM KHIALA KALAN TO KOTRA | MANSA | REGULAR | 150 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 118 | WITHIN 2 KM AND INCLUDING VILLAGE BARNALA ON MANSA BUDHLADA ROAD | MANSA | RURAL | 70 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 119 | BETWEEN KM STONE 96 TO 98 ON NH 703 ON LEFT HAND SIDE TOWARDS BARNALA | MOGA | REGULAR | 151 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 5 |
| 120 | MOGA CITY WITHIN MUNICIPAL LIMIT WITHIN 2 KMS OF INTERSECTION OF ZIRA ROAD & DUNNEKKE LOHARA BYEPASS ROAD ON DUNNEKKE LOHARA BYEPASS ROAD | MOGA | REGULAR | 110 | ОВС | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 121 | WITHIN 3 KMS FROM LOHARA CHOWK TOWARDS JALANDHAR ON LEFT HAND SIDE ON NH-703 | MOGA | REGULAR | 150 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |

| 122 | WITHIN 5 KM ON EITHER SIDE FROM INDOOR SPORTS STADIUM, MOGA ON MOGA TO FEROZPUR ROAD, MOGA CITY MUNICIPAL LIMIT, | MOGA | REGULAR | 120 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
|-----|--|------|---------|-----|---------|-----|----|----|------|----|----|-----------------|----|---|
| 123 | BETWEEN KM STONE 136 AND 139 ON LEFT HAND SIDE FROM MOGA TOWARDS LUDHIANA ON NH 05 | MOGA | REGULAR | 150 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 5 |
| 124 | MOGA CITY MUNICIPAL LIMIT WITHIN 5 KM ON EITHER SIDE FROM DISTRICT ADMINISTRATION COMPLEX, MOGA ON MOGA TO FEROZPUR ROAD | MOGA | REGULAR | 120 | OBC | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 125 | BETWEEN KM STONE 127 AND 129 ON NH 05 | MOGA | REGULAR | 150 | sc | CFS | 35 | 45 | 1575 | 0 | 0 | Draw of Lots | 0 | 3 |
| 126 | BETWEEN KM STONE 131 AND 134 ON LEFT HAND SIDE FROM MOGA TOWARDS LUDHIANA ON NH 05 | MOGA | REGULAR | 150 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 5 |
| 127 | MOGA CITY WITHIN MUNICIPAL LIMIT ON GANDHI ROAD | MOGA | REGULAR | 130 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 128 | BETWEEN KM STONE 30 AND 32 ON RIGHT HAND SIDE FROM BAGHAPURANA TOWARDS KOTKAPURA ON SH-16 (NEW NH 105B) | MOGA | REGULAR | 150 | OPEN | DC | 35 | 45 | 1575 | 32 | 75 | Draw of Lots | 15 | 5 |
| 129 | WITHIN 3 KM FROM KOTISEKHAN CHOWK TOWARDS MOGA ON NH 703B | MOGA | REGULAR | 150 | OBC CC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 130 | MOGA CITY WITHIN MUNICIPAL LIMIT ON AKALSAR ROAD | MOGA | REGULAR | 110 | SC CC 1 | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |

| 131 | BETWEEN KM STONE 55 TO 58 ON NH 703 ON LEFT HAND SIDE TOWARDS JALANDHAR | MOGA | REGULAR | 150 | ОВС | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 4 |
|-----|---|------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 132 | BETWEEN KM STONE 63 TO 65 ON NH 703 ON LEFT HAND SIDE TOWARDS JALANDHAR | MOGA | REGULAR | 150 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 5 |
| 133 | BETWEEN KM STONE 15 AND 18 ON NH 254 | MOGA | REGULAR | 150 | sc | CFS | 40 | 45 | 1800 | 0 | 0 | Draw of Lots | 0 | 3 |
| 134 | MOGA CITY WITHIN MUNICIPAL LIMIT ON MOGA KOTKAPURA BYPASS ROAD | MOGA | REGULAR | 120 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 135 | BETWEEN KM STONE 28 AND 30 ON RIGHT HAND SIDE FROM BAGHAPURANA TOWARDS NIHAL SINGH WALA ON NH 254 | MOGA | REGULAR | 150 | OBC | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 4 |
| 136 | BETWEEN KM STONE 3 AND 6 ON LEFT HAND SIDE FROM MOGA TOWARDS KOTISEKHAN ON NH 703 B | MOGA | REGULAR | 150 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 5 |
| 137 | WITHIN 5 KM FROM VILLAGE BADDUWAL TOWARDS LUDHIANA ON SH 20, DISTRICT MOGA | MOGA | REGULAR | 100 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 138 | MOGA CITY WITHIN MUNICIPAL LIMIT ON DOSANJ LINK ROAD | MOGA | REGULAR | 100 | ОВС | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 139 | BETWEEN KM STONE 134 AND 139 ON LEFT HAND SIDE FROM LUDHIANA TOWARDS MOGA ON NH 05 | MOGA | REGULAR | 150 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | Draw of Lots | 15 | 5 |
| 140 | BETWEEN KM STONE 23 TO 25 ON NH 254 | MOGA | REGULAR | 150 | OPEN CC 1 | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 5 |
| 141 | VILLAGE DARAPUR ON NH 05 | MOGA | REGULAR | 150 | sc | CFS | 40 | 45 | 1800 | 0 | 0 | Draw of Lots | 0 | 3 |

| 142 | WITHIN 5 KM FROM KOTISEKHAN CHOWK ON NH 703B TOWARDS MAKHU | MOGA | REGULAR | 150 | OPEN | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 5 |
|-----|--|----------------------|---------|-----|------|-----|----|----|------|----|----|-----------------|----|---|
| 143 | MOGA CITY WITHIN MUNICIPAL LIMIT ON ZIRA ROAD | MOGA | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 144 | BETWEEN KM STONE 74- 77 ON LEFT HAND SIDE ON NH 703 (FROM BUGIPURA CHOWK TO TALWANDI BHANGERIAN) | MOGA | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 145 | MOGA CITY WITHIN MUNICIPAL LIMIT ON MOGA -AMRITSAR ROAD, DISTRICT MOGA | MOGA | REGULAR | 100 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 146 | BETWEEN KM STONE 7 AND 9 ON LEFT HAND SIDE FROM BAGHAPURANA TOWARDS BHAGTA BHAI ON SH 16A | MOGA | REGULAR | 130 | OPEN | DC | 35 | 45 | 1575 | 32 | 75 | Draw of Lots | 15 | 5 |
| 147 | LANDE LINK ROAD, VILLAGE LANDE, DISTRICT MOGA | MOGA | RURAL | 70 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | Draw of Lots | 5 | 4 |
| 148 | FROM BHATINDA CHOWK TO KOTKAPURA CHOWK ON LEFT HAND SIDE WITHIN SRI MUKTSAR SAHIB MUNICIPAL LIMIT | SRI MUKTSAR SAHIB | REGULAR | 100 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 149 | SRI MUKTSAR SAHIB WITHIN MUNICIPAL LIMITS ON SRI MUKTSAR SAHIB TO ABOHAR ROAD | SRI MUKTSAR SAHIB | REGULAR | 100 | OPEN | сс | 20 | 20 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 150 | WITHIN 1KM ON EITHER SIDE OF SPRING VILLA MARRIAGE PALACE ON SRI MUKTSAR SAHIB BALAMGARH ROAD | SRI MUKTSAR SAHIB | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 151 | WITH IN SRI MUKTSAR SAHIB MUNICIPAL LIMIT ON BURAGUJJAR ROAD | SRI MUKTSAR SAHIB | REGULAR | 100 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 152 | WITH IN SRI MUKTSAR SAHIB MUNICIPAL LIMIT | SRI MUKTSAR SAHIB | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |

| 153 | ON SRI MUKTSAR SAHIB BHATINDA ROAD FROM HOTEL ROYAL INN TO BHATINDA CHOWK WITHIN SRI MUKTSAR SAHIB MUNICIPAL LIMIT | SRI MUKTSAR SAHIB | REGULAR | 100 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
|-----|--|----------------------|---------|-----|------|-----|----|----|------|----|----|-----------------|----|---|
| 154 | ON NH 754, BETWEEN KM STONE NO 50 TO 53, FROM SRI MUKTSAR SAHIB TO JALALABAD | SRI MUKTSAR SAHIB | REGULAR | 150 | ОВС | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 4 |
| 155 | ON NH-7 (MALOUT- ABOHAR), BETWEEN KM STONE NUMBER 43 TO 46 | SRI MUKTSAR SAHIB | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 156 | MALOUT TOWN, WITHIN MUNICIPAL LIMITS ON NH7 | SRI MUKTSAR SAHIB | REGULAR | 150 | ОВС | DC | 30 | 30 | 900 | 32 | 95 | Draw of Lots | 15 | 4 |
| 157 | ON NH354E (DABWALI- ABOHAR ROAD),BETWEEN KM STONE NUMBER 21 TO 24 | SRI MUKTSAR SAHIB | REGULAR | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 158 | WITHIN 10 KM FROM DANEWALA CHOWK ,MALOUT TOWARDS DABWALI ON MALOUT- DABWALI ROAD NH9 | SRI MUKTSAR SAHIB | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 159 | WITHIN 3 KM FROM GTB KHALSA INSTITUTE OF TECHNOLOGY, CHAPIANW ALI TOWARDS DANEWALA CHOWK, MALOUT ON DANEWALA SADUL SHAHAR ROAD | SRI MUKTSAR SAHIB | REGULAR | 100 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 5 |
| 160 | ON NH7(MALOUT- BHATINDA ROAD) ,BETWEEN KM STONE NUMBER 98 TO 94 | SRI MUKTSAR SAHIB | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 161 | VILLAGE FATUHIWALA ON JOGEWALA TO MALOUT(NEW BYE PASS) ON NH9 | SRI MUKTSAR SAHIB | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 162 | VILLAGE HARIKE KALAN ON HARIKE KALAN KHARA ROAD | SRI MUKTSAR SAHIB | RURAL | 50 | ОВС | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |

| 163 | ON SRI MUKTSAR SAHIB MOUR ROAD, WITHIN 3KM FROM SRI MUKTSAR SAHIB JALALABAD BYPASS ROAD T POINT, OUTSIDE MUNICIPAL LIMITS | SRI MUKTSAR SAHIB | RURAL | 50 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
|-----|---|----------------------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 164 | IN VILLAGE WARING KHERA,TEHSIL MALOUT, DISTRICT SRI MUKTSAR SAHIB | SRI MUKTSAR SAHIB | RURAL | 70 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | Draw of Lots | 5 | 4 |
| 165 | ON NH-07, BETWEEN KM STONE 170 TO KM STONE 185 | BARNALA | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 166 | ON NH-703 BETWEEN KM STONE 132 TO KM STONE 138 | BARNALA | REGULAR | 150 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 167 | ON ANY 60 FEET AND ABOVE ROAD WITHIN MUNICIPAL LIMITS OF BARNALA | BARNALA | REGULAR | 100 | OPEN CC 1 | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 168 | ON NH-07, BETWEEN KM STONE 203 TO KM STONE 208 | BARNALA | REGULAR | 150 | ОВС | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 169 | ON ANY 60 FEET AND ABOVE WIDTH ROAD, WITHIN MUNICIPAL LIMITS OF AMLOH | FATEHGARH SAHIB | REGULAR | 100 | sc | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 170 | ON LHS OF SH-12 A WITHIN 6 KMS FROM DOLPHIN PG COLLEGE TOWARDS FATEHGARH SAHIB | FATEHGARH SAHIB | REGULAR | 100 | OPEN | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 5 |
| 171 | WITHIN 5 KMS FROM KM STONE 581 ON EITHER SIDE OF NH-44 WHILE GOING TOWARDS KHANNA | FATEHGARH SAHIB | REGULAR | 150 | SC CC 1 | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 172 | IN BETWEEN KM STONE 592 TO KM STONE 581 ON EITHER SIDE OF NH-44 WHILE GOING TOWARDS KHANNA | FATEHGARH SAHIB | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |

| 173 | ON ANY 60 FEET AND ABOVE WIDTH ROAD, WITHIN MUNICIPAL LIMITS OF MANDI GOBINDGARH | FATEHGARH SAHIB | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | Draw of Lots | 15 | 5 |
|-----|--|--------------------|---------|-----|------|-----|----|----|------|----|----|-----------------|----|---|
| 174 | ON ANY 60 FEET AND ABOVE WIDTH ROAD, WITHIN MUNICIPAL LIMITS OF SIRHIND | FATEHGARH SAHIB | REGULAR | 100 | OBC | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 4 |
| 175 | WITHIN 5 KMS FROM GURUDWARA SHRI GOBINDGARH SAHIB RANWAN ON LHS OF NH- 5(OLD NH-95) WHILE GOING TOWARDS KHARAR FROM KHAMANO | FATEHGARH SAHIB | REGULAR | 150 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw Of Lots | 0 | 3 |
| 176 | WITHIN 6 KMS ON EITHER SIDE OF SIRHIND BHADSON ROAD FROM JUNCTION OF NH-44 SERVICE LANE AND SIRHIND BHADSON ROAD WHILE GOING TOWARDS BHADSON | FATEHGARH SAHIB | RURAL | 70 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 177 | ON BADALI ALA SINGH- HANSALI-NH1(NEW NH- 44) ROAD FROM JUNCTION OF BADALI ALA SINGH-HANSALI-NH1(NEW NH-44) ROAD AND SH-12A TILL JUNCTION OF BADALI ALA SINGH-HANSALI- NH1(NEW NH-44) ROAD AND SERVICE ROAD OF NH44 | FATEHGARH SAHIB | RURAL | 70 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |
| 178 | ON ANY MINIMUM WIDTH 20 FEET ROAD VILLAGE BAHGRAIAN,BLOCK- SIRHIND, DISTRICT- FATEHGARH SAHIB | FATEHGARH SAHIB | RURAL | 70 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |

| 179 | ON L.H.S OF SH- 13(LUDHIANA-BARNALA ROAD) BETWEEN KM STONE 3 AND 6 | LUDHIANA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 5 |
|-----|---|----------|---------|-----|------|-----|----|----|------|----|----|-----------------|----|---|
| 180 | ON SH-13(LUDHIANA- BARNALA ROAD) BETWEEN KM STONE 11 AND 14 | LUDHIANA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 5 |
| 181 | ON SUA ROAD BETWEEN PASSI CHOWK AND JAWADDI CHOWK | LUDHIANA | REGULAR | 150 | ОВС | DC | 20 | 20 | 400 | 32 | 75 | Draw of Lots | 15 | 4 |
| 182 | ON BHARAT NAGAR ROAD BETWEEN BHARAT NAGAR CHOWK AND LUDHIANA ISBT | LUDHIANA | REGULAR | 150 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of lots | 0 | 3 |
| 183 | SIDHWAN CANAL ROAD WITHIN MUNICIPAL LIMITS OF LUDHIANA | LUDHIANA | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 184 | ON L.H.S OF NH-05 FROM VERKA UNDERPASS TOWARDS AYALI ROAD JUNCTION WITHIN LUDHIANA MUNICIPAL LIMITS | LUDHIANA | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 95 | Draw of Lots | 15 | 5 |
| 185 | ON L.H.S. OF SH- 13(LUDHIANA-BARNALA ROAD) BETWEEN KM STONE 26 AND 29 | LUDHIANA | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 4 |
| 186 | ON SH-11 BETWEEN KM STONE 8 AND 16 | LUDHIANA | REGULAR | 150 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of lots | 0 | 3 |
| 187 | ON NH-05 BETWEEN KM STONE 98 AND 103 | LUDHIANA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 188 | WITHIN 2 KMS FROM THE INTERSECTION OF DELHI- KATRA HIGHWAY ON LUDHIANA-ROPAR HIGHWAY | LUDHIANA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 189 | ON NH-05 BETWEEN KM STONE 104 AND 106 | LUDHIANA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 190 | ON NH-05 BETWEEN KM STONE 116 AND 120 | LUDHIANA | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |

| 191 | ON FEROZEPUR ROAD (NH-05) BETWEEN AARTI CHOWK AND BHAI WALA CHOWK | LUDHIANA | REGULAR | 150 | sc | CFS | 30 | 30 | 900 | 0 | 0 | Draw of lots | 0 | 3 |
|-----|--|----------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 192 | BETWEEN KMSTONE 53 TO 63 ON NH5 WHILE GOING FROM SAMRALA TO LUDHIANA | LUDHIANA | REGULAR | 150 | OPEN CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 193 | UPTO 2 KM FROM NH5 INTERSECTION TOWARDS BHAMIAN ON BHAMIAN ROAD (MIN 60 FT ROAD) | LUDHIANA | REGULAR | 150 | OBC | DC | 20 | 20 | 400 | 32 | 75 | Draw of Lots | 15 | 4 |
| 194 | WITHIN 1 KM FROM CONCOR GATE NO 2 ON ANY ROAD (MIN 60 FEET WIDTH)(NOT ON NH OR SH) IN FOCAL POINT,LUDHIANA | LUDHIANA | REGULAR | 150 | OPEN | сс | 20 | 20 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 195 | BETWEEN KMSTONE 550 TO 562 ON NH44(OLD NH1) WHILE GOING FROM DORAHA TO KHANNA | LUDHIANA | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 196 | FROM KMSTONE 528 TO 534 ON NH44(OLD NH1) IN LUDHIANA MUNICIPAL LIMIT | LUDHIANA | REGULAR | 150 | OPEN | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 5 |
| 197 | WITHIN 2 KM FROM FOUNTAIN CHOWK (NOT ON NH OR SH), LUDHIANA CITY ON ANY ROAD WITH MINIMUM 60 FEET WIDTH IN LUDHIANA MUNICIPAL LIMIT. | LUDHIANA | REGULAR | 150 | OBC | DC | 20 | 20 | 400 | 32 | 75 | Draw of Lots | 15 | 4 |
| 198 | LUDHIANA WML (NOT ON NH OR SH), TEHSIL - LUDHIANA EAST, ON ANY ROAD OF MIN 60 FEET WIDTH. | LUDHIANA | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 199 | BETWEEN KMSTONE 540 TO 544 ON NH44(OLD NH1) WHILE GOING FROM SAHNEWAL TO DORAHA | LUDHIANA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |

| 200 | ON RAHON ROAD, FROM NH5 INTERSECTION TOWARDS RAHON TILL LUDHIANA MUNICIPAL LIMITS | LUDHIANA | REGULAR | 150 | SC CC 1 | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
|-----|---|----------|---------|-----|-------------|-----|----|----|------|----|----|-----------------|----|---|
| 201 | ON NEW LADDOWAL BYEPASS (NH 05) UPTO 4 KM FROM LADDOWAL BYEPASS/CHAHAR TOLL PLAZA TOWARDS LADDOWAL | LUDHIANA | REGULAR | 150 | OBC CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 202 | ON KHANNA-SAMRALA ROAD (MDR)WITHIN MUNICIPAL LIMITS OF KHANNA | LUDHIANA | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 203 | FROM KMSTONE 511 TO 516 ON NH44(OLD NH1) WHILE GOING FROM LADDOWAL TOWARDS LUDHIANA | LUDHIANA | REGULAR | 150 | OPEN PH | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 204 | ON RHS OF NEW LADDOWAL BYEPASS (NH 05) UPTO 5 KM FROM LADDOWAL BYEPASS/CHAHAR TOLL PLAZA WHILE GOING FROM TOLL PLAZA TOWARDS LUDHIANA | LUDHIANA | REGULAR | 150 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 205 | UPTO 6 KM FROM KOHARA CHOWK ON NH5 | LUDHIANA | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 206 | ON SUA ROAD (MINIMUM 60 FEET ROAD WIDTH), UPTO 1.2 KM FROM HDFC GIASPURA BRANCH | LUDHIANA | REGULAR | 150 | OPEN | СС | 20 | 20 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 207 | ON CHANDIGARH ROAD (NH5) FROM SAMRALA CHOWK TOWARDS KOHARA TILL LUDHIANA MUNICIPAL LIMITS | LUDHIANA | REGULAR | 150 | ОВС | DC | 30 | 30 | 900 | 32 | 95 | Draw of Lots | 15 | 4 |
| 208 | FROM KMSTONE 516 TO 528 ON NH44(OLD NH1)IN LUDHIANA MUNICIPAL LIMIT | LUDHIANA | REGULAR | 150 | sc | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |

| 209 | ON THE MAIN ROAD (MIN 60 FEET) FROM CHEEMA CHOWK TO SUFFIAN BAGH CHOWK IN LUDHIANA CITY | LUDHIANA | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
|-----|--|----------|---------|-----|------|-----|----|----|------|----|----|-----------------|----|---|
| 210 | BETWEEN KMSTONE 544 TO 550 ON NH44(OLD NH1) WHILE GOING FROM DORAHA TO KHANNA | LUDHIANA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 211 | ON KHANNA- MALERKOTLA ROAD (MDR) FROM NH44 INTERSECTION TILL LUDHIANA MUNICIPAL LIMIT. | LUDHIANA | REGULAR | 100 | OPEN | СС | 20 | 20 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 212 | WITHIN MUNICIPAL LIMITS OF KHANNA ON NH 44 (OLD NH1) | LUDHIANA | REGULAR | 150 | ОВС | DC | 30 | 30 | 900 | 32 | 95 | Draw of Lots | 15 | 4 |
| 213 | ON MALL ROAD BETWEEN BHARAT NAGAR CHOWK TO FOUNTAIN CHOWK | LUDHIANA | REGULAR | 150 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of lots | 0 | 3 |
| 214 | ON MAIN HAMBRAN ROAD BETWEEN NH-05 JUNCTION TO HAMBRAN BRIDGE ROAD JUNCTION | LUDHIANA | RURAL | 70 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of lots | 0 | 2 |
| 215 | ON 200 FEET ROAD BETWEEN JAIN MANDIR CHOWK AND RAILWAY LINES JUNCTION | LUDHIANA | RURAL | 70 | OPEN | сс | 20 | 20 | 400 | 16 | 6 | Bidding | 10 | 4 |
| 216 | WITHIN 2 KMS ON JODHAN KHANDOOR ROAD (GURU GOBIND SINGH MARG) FROM THE INTERSECTION OF PAKHOWAL ROAD | LUDHIANA | RURAL | 70 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 217 | VILLAGE AITTIANA,TEHSIL RAIKOT, DISTRICT LUDHIANA | LUDHIANA | RURAL | 70 | ОВС | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |
| 218 | ON M.D.R (MAJOR DISTRICT ROAD) NO. 50 BETWEEN KM STONE 6 AND 7 | LUDHIANA | RURAL | 70 | OPEN | сс | 35 | 35 | 1225 | 16 | 6 | Bidding | 10 | 4 |

| 219 | ON JODHAN RAIKOT ROAD, BETWEEN PAKHOWAL LUDHIANA ROAD JUNCTION AND RATTOWAL SARABHA ROAD JUNCTION | LUDHIANA | RURAL | 70 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of lots | 0 | 2 |
|-----|---|----------|-------|----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 220 | ON RAMGARHIA ROAD, BETWEEN KWALITY CHOWK TO THREEKEY COLONY ROAD JUNCTION | LUDHIANA | RURAL | 70 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 221 | VILLAGE DHANDRAN, TEHSIL LUDHIANA WEST, DISTRICT LUDHIANA | LUDHIANA | RURAL | 70 | ОВС | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |
| 222 | ON DEHLON-PAKHOWAL ROAD IN VILLAGE KILLA RAIPUR | LUDHIANA | RURAL | 70 | OPEN CC 1 | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 223 | WITHIN 3 KMS ON DHARAMKOT ROAD TOWARDS KISHANPUR KALAN FROM THE INTERSECTION OF DHARAMKOT ROAD AND NAKODAR JAGRAON ROAD | LUDHIANA | RURAL | 70 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of lots | 0 | 2 |
| 224 | ON CYCLE VALLEY ROAD FROM NH5 TO VILLAGE DHANANSU | LUDHIANA | RURAL | 70 | ОВС | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |
| 225 | ON SAHNEWAL-KOHARA LINK ROAD FROM SAHNEWAL (OUTSIDE MUNICIPAL LIMIT) TO KOHARA | LUDHIANA | RURAL | 70 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 226 | WITHIN 3 KM FROM GOVT. MIDDLE SCHOOL,BALION TOWARDS MACHHIWARA ON SAMRALA- MACHHIWARA ROAD | LUDHIANA | RURAL | 70 | OPEN | сс | 35 | 35 | 1225 | 16 | 6 | Bidding | 10 | 4 |
| 227 | FROM ISRU TO JALLAJAN, TEHSIL - KHANNA ON KHANNA- MALERKOTLA ROAD (MDR 33) | LUDHIANA | RURAL | 70 | ОВС | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |

| 228 | ON SAHNEWAL-DEHLON ROAD UPTO 4.5 KM FROM SAHNEWAL (OUTSIDE MUNICIPAL LIMIT) TOWARDS DEHLON | LUDHIANA | RURAL | 70 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |
|-----|---|------------|---------|-----|------|-----|----|----|------|----|----|-----------------|----|---|
| 229 | FROM MACHHIWARA (OUTSIDE MUNICIPAL LIMITS) TO VILLAGE JHARAUDI ON MACHHIWARA- RAHON MDR ROAD | LUDHIANA | RURAL | 70 | OPEN | сс | 35 | 35 | 1225 | 16 | 6 | Bidding | 10 | 4 |
| 230 | BETWEEN KOHARA TO MACHHIWARA (OUTSIDE MUNICIPAL LIMITS) ON KOHARA- MACHHIWARA MDR ROAD | LUDHIANA | RURAL | 70 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 231 | ON JAGIRPUR ROAD, VILL- JAGIRPUR, TEHSIL - LUDHIANA EAST | LUDHIANA | RURAL | 70 | ОВС | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |
| 232 | UPTO 3 KM ON TAJPUR ROAD FROM LUDHIANA CENTRAL JAIL TOWARDS DHANANSU (OUTSIDE LUDHIANA MUNICIPAL LIMITS) | LUDHIANA | RURAL | 70 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |
| 233 | UPTO 1 KM ON EITHER SIDE OF MEHARBAN POLICE STATION ON RAHON ROAD OUTSIDE LUDHIANA MUNICIPAL LIMITS | LUDHIANA | RURAL | 70 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 234 | UPTO 1 KM FROM RADHA SWAMI SATSANG TOWARDS BAJRA VILLAGE ON KAILASH NAGAR- BAJRA ROAD (OUTSIDE LUDHIANA MUNICIPAL LIMITS) | LUDHIANA | RURAL | 70 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 235 | ON SH-11, WITHIN MUNICIPAL LIMITS OF MALERKOTLA | MALERKOTLA | REGULAR | 100 | ОВС | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |

| 236 | ANYWHERE IN RANJIT NAGAR, TEHSIL PATIALA, PATIALA(ON MIN. 60FT ROAD) | PATIALA | REGULAR | 150 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
|-----|--|---------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 237 | WITHIN BHADSON MUNICIPALITY LIMITS (ON MIN. 60FT ROAD) UNDER PATIALA DISTRICT | PATIALA | REGULAR | 105 | OPEN | сс | 20 | 20 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 238 | EITHER SIDE ON NH44, FROM MAYUR SIMRAN DHABHA (RAJPURA) TOWARDS SHAMBHU TOLL PLAZA,WITHIN PATIALA DISTRICT | PATIALA | REGULAR | 150 | OPEN CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 239 | WITHIN NABHA MUNICIPALITY LIMITS (ON MIN. 60 FT ROAD)) | PATIALA | REGULAR | 140 | ОВС | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 240 | EITHER SIDE ON NH 7, FROM DHARERI JATTAN TOLL PLAZA TOWARDS RAJPURA TILL INTERSECTION OF NH7 AND GT ROAD(NH44) | PATIALA | REGULAR | 150 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 241 | ON EITHER SIDE OF PATIALA SIRHIND ROAD WITHIN MUNICIPALITY LIMITS OF PATIALA | PATIALA | REGULAR | 160 | OPEN | сс | 20 | 20 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 242 | EITHER SIDE ON NH 7, FROM URBAN ESTATE PHASE 1 TOWARDS SANGRUR (WITHIN PATIALA DISTRICT) | PATIALA | REGULAR | 155 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 243 | EITHER SIDE ON NH 205A FROM SHAMBHU BORDER TOWARDS BANUR WITHIN PATIALA DISTRICT | PATIALA | REGULAR | 220 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 244 | EITHER SIDE ON NH 7, WITHIN PATIALA DISTRICT, FROM SARAOPUR BUS STOP (RAJPURA) TOWARDS BANUR | PATIALA | REGULAR | 160 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |

| 245 | EITHER SIDE ON NH52, WITHIN PATIALA DISTRICT FROM BHAGAT SINGH CHOWK TILL VILLAGE DHABI GUJRAN,BLOCK PATRAN | PATIALA | REGULAR | 165 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
|-----|--|---------|---------|-----|------|-----|----|----|------|----|----|-----------------|----|---|
| 246 | WITHIN RAJPURA MUNICIPALITY LIMITS (ON MIN. 60FT ROAD), WITHIN PATIALA DISTRICT | PATIALA | REGULAR | 170 | ОВС | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 247 | WITHIN 2 KMS FROM EITHER SIDE OF PATIALA SABJI MANDI ON BOTH LHS AND RHS OF PATIALA SANAUR ROAD | PATIALA | REGULAR | 115 | OPEN | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 5 |
| 248 | EITHER SIDE ON PATRAN JAKHAL ROAD (SH 10) FROM BHAGAT SINGH CHOWK,PATRAN TO CHC HOSPITAL (WITHIN PATIALA DISTRICT) | PATIALA | REGULAR | 100 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 5 |
| 249 | WITHIN 4 KMS OF DEVIGARH BUS STAND ON PATIALA DEVIGARH ROAD (SH 8) WITHIN PATIALA DISTRICT | PATIALA | REGULAR | 110 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 250 | WITHIN SAMANA MUNICIPALITY LIMITS (ON MIN. 60 FT ROAD)) | PATIALA | REGULAR | 150 | ОВС | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 251 | ON EITHER SIDE OF NH 7, WITHIN 5 KMS FROM DHARERI JATTAN TOLL PLAZA TOWARDS PATIALA CITY WITHIN PATIALA DISTRICT | PATIALA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 252 | WITHIN MUNICIPAL LIMITS (ON MIN. 60FT ROAD) OF PATIALA | PATIALA | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 253 | WITHIN MUNICIPALITY LIMITS OF TEHSIL GHANAUR, RAJPURA(ON MIN. 60 FT ROAD) | PATIALA | REGULAR | 100 | ОВС | DC | 35 | 35 | 1225 | 32 | 55 | Draw of Lots | 15 | 4 |

| | 011 5151155 0155 05 | | 1 | I | | | | I | 1 | 1 | I | | I | 1 |
|-----|---|----------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 254 | ON EITHER SIDE OF PATIALA DEVIGARH ROAD (SH 8) FROM DHILLON FUN WORLD TO VILLAGE BHUNERHERI WITHIN PATIALA DISTRICT | PATIALA | REGULAR | 100 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 5 |
| 255 | WITHIN PATRAN MUNICIPALITY LIMITS (ON MIN. 60FT ROAD) | PATIALA | REGULAR | 140 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 256 | ANYWHERE IN VILLAGE DHINGI ON NABHA MALERKOTLA ROAD (MDR 32)) WITHIN PATIALA DISTRICT | PATIALA | RURAL | 82 | ОВС РН | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |
| 257 | ANYWHERE IN VILLAGE DARAULI, TEHSIL PATRAN, PATIALA | PATIALA | RURAL | 75 | SC PH | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |
| 258 | ANYWHERE IN VILLAGE MALO MAJRA, TEHSIL PATIALA, PATIALA((ON MIN. 40FT ROAD) | PATIALA | RURAL | 90 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 259 | ON ANY 60 FEET AND ABOVE WIDTH ROAD, WITHIN MUNICIPAL LIMITS OF RUPNAGAR | RUPNAGAR | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | Draw of Lots | 15 | 5 |
| 260 | IN BETWEEN KM STONE 33 TO KM STONE 40 ON EITHER SIDE OF NH 503 EXTN. WHILE GOING TOWARDS NANGAL | RUPNAGAR | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 261 | IN BETWEEN KM STONE 31 TO KM STONE 38 ON EITHER SIDE OF NH 205 WHILE GOING TOWARDS RUPNAGAR | RUPNAGAR | REGULAR | 150 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 262 | IN BETWEEN KM STONE 64 TO KM STONE 52 ON LHS OF NH 205 WHILE GOING TOWARDS RUPNAGAR FROM NANGAL | RUPNAGAR | REGULAR | 150 | OPEN CC 2 | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |

| | INI DETIMEENI KAA CTONE | | | | | | | | | | | | l | |
|-----|---|----------|---------|-----|-------------|-----|----|----|------|----|----|-----------------|----|---|
| 263 | IN BETWEEN KM STONE 52 TO KM STONE 64 ON LHS OF NH 205 WHILE GOING TOWARDS NANGAL FROM RUPNAGAR | RUPNAGAR | REGULAR | 150 | OBC CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 264 | WITHIN 8 KMS FROM KM STONE 51 ON LHS OF NH 503 EXTN. WHILE GOING TOWARDS NANGAL | RUPNAGAR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 265 | ON RHS OF ROPAR- NURPUR BEDI ROAD BETWEEN G.H. SMART SCHOOL ABIANA KALAN AND MADHUBAN VATIKA PUBLIC SCHOOL WHILE GOING TOWARDS NURPUR BEDI FROM ROPAR | RUPNAGAR | RURAL | 70 | OBC | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |
| 266 | ANYWHERE ON NH-52, WITHIN TEHSIL SUNAM, DISTT. SANGRUR | SANGRUR | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 267 | ON SH-11, BETWEEN KM STONE 73 TO KM STONE 75 | SANGRUR | REGULAR | 100 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 268 | WITHIN 5 KM FROM GURUDWARA SHRI TEG BAHADUR SAHIB PHAGGUWALA, TOWARDS SUNAM ON SH-12 A | SANGRUR | REGULAR | 100 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 5 |
| 269 | ON SH-11, BETWEEN KM STONE 53 TO KM STONE 55 | SANGRUR | REGULAR | 100 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 5 |
| 270 | ON LHS OF NH-07 BETWEEN KM STONE 240 TO KM STONE 245 | SANGRUR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 271 | WITHIN 4 KMS FROM MOONAK BUS STAND TOWARDS TOHANA ON NH-148 B, IN DISTT. SANGRUR | SANGRUR | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 272 | ANYWHERE ON NH-52, IN SUB-TEHSIL DIRBA, DISTT. SANGRUR | SANGRUR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |

| 1 | | | | | | | | | | | | | | |
|-----|--|-----------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 273 | ON ANY 60 FEET AND ABOVE ROAD, WITHIN MUNICIPAL LIMITS OF SANGRUR | SANGRUR | REGULAR | 100 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 274 | ON SH-12A, BETWEEN KM STONE 43 AND KM STONE 45 | SANGRUR | REGULAR | 100 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 5 |
| 275 | ON SH-11, BETWEEN KM STONE 68 TO KM STONE 71 | SANGRUR | REGULAR | 100 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 276 | ON NH-07 BETWEEN KM STONE 222 TO KM STONE 227 | SANGRUR | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 277 | ON BHALWAN DHURI ROAD,IN VILLAGE DHURA, TEHSIL DHURI, DISTT. SANGRUR | SANGRUR | RURAL | 50 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 278 | IN VILLAGE FATEHGARH CHANNA, TEHSIL SANGRUR, DISTT. SANGRUR | SANGRUR | RURAL | 50 | ОВС | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |
| 279 | WITHIN 2 KM FROM KHARAR BUS STAND TOWARDS CHANDIGARH ON SERVICE LANE OF NH- 205 | SAS NAGAR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of lots | 15 | 5 |
| 280 | WITHIN 3 KM FROM GURUDWARA SAHIB SINGH SHAHEEDAN ON SH-12A, RHS WHILE GOING TOWARDS LANDRAN | SAS NAGAR | REGULAR | 100 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 281 | WITHIN 3 KM FROM INTERSECTION OF NH- 205A AND BADALA ROAD ON BADALA ROAD | SAS NAGAR | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of lots | 15 | 5 |
| 282 | WITHIN MUNICIPAL LIMITS OF ZIRAKPUR (ON MINIMUM 60 FEET ROAD) | SAS NAGAR | REGULAR | 150 | SC CC 1 | CFS | 20 | 20 | 400 | 0 | 0 | Draw of lots | 0 | 3 |
| 283 | ON KURALI BYPASS ROAD, RHS WHILE GOING TOWARDS RUPNAGAR FROM KHARAR | SAS NAGAR | REGULAR | 150 | OPEN CC 2 | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |

| 284 | IN BETWEEN HOTEL VINTAGE TO BUS STOP BHANKARPUR ON NH-152 | SAS NAGAR | REGULAR | 150 | OBC CC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of lots | 15 | 4 |
|-----|---|-----------|---------|-----|--------|-----|----|----|------|----|----|-----------------|----|---|
| 285 | IN BETWEEN MOTIAZ GILL ESTATE TO JAMUNA APARTMENTS ON NH-205 | SAS NAGAR | REGULAR | 150 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 286 | ON ANY MINIMUM 60FEET ROAD, WITHIN MUNICIPAL LIMITS OF KHARAR | SAS NAGAR | REGULAR | 100 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of lots | 0 | 3 |
| 287 | IN BETWEEN KM STONE NO. 13 TO KM STONE NO. 21 ON NH-152 | SAS NAGAR | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of lots | 15 | 4 |
| 288 | ON NH-205A PASSING THROUGH VIILAGE JHINGRA, TEHSIL KHARAR | SAS NAGAR | REGULAR | 150 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 289 | KHALSA SENIOR SECONDARY SCHOOL KHARAR TO KM STONE NO. 4 ON NH-205A | SAS NAGAR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of lots | 15 | 5 |
| 290 | IN BETWEEN KM STONE NO. 15 TO KM STONE NO. 19 ON NH-5 | SAS NAGAR | REGULAR | 150 | ОВС | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 291 | IN BETWEEN OMAXE TO SUNTECH SOCIETY ON PR7 ROAD | SAS NAGAR | REGULAR | 100 | SC | CFS | 20 | 20 | 400 | 0 | 0 | Draw of lots | 0 | 3 |
| 292 | IN VILLAGE PEER MUCHALLA, WITHIN MUNICIPAL LIMITS OF ZIRAKPUR | SAS NAGAR | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | Draw of lots | 15 | 5 |
| 293 | IN BETWEEN KM STONE NO. 15 TO KM STONE NO. 20 ON NH-205A, LHS WHILE GOING FROM LANDRAN TO BANUR | SAS NAGAR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of lots | 15 | 5 |
| 294 | IN BETWEEN KM STONE NO. 23 TO KM STONE NO. 26 ON NH-205A, RHS WHILE GOING FROM BANUR TO TEPLA | SAS NAGAR | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of lots | 15 | 4 |
| 295 | ON ANY MINIMUM 60FEET ROAD IN SECTOR 91 MOHALI | SAS NAGAR | REGULAR | 150 | SC | CFS | 20 | 20 | 400 | 0 | 0 | Draw of lots | 0 | 3 |

| | | | I | 1 | | 1 | | | 1 | | I | I | 1 | |
|-----|---|-----------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 296 | ON AIRPORT ROAD STARTING FROM CHEEMA BOILERS TO INTERSECTION POINT OF AIRPORT ROAD AND CHANDIGARH ROPAR ROAD | SAS NAGAR | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of lots | 15 | 5 |
| 297 | IN BETWEEN KM STONE NO. 336 TO KM STONE NO. 339 ON NH-7 | SAS NAGAR | REGULAR | 150 | OPEN CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | Draw of lots | 15 | 5 |
| 298 | WITHIN 5 KM FROM BUS STOP RAMPUR SAINI TOWARDS DERABASSI ON SH-9 (DERABASSI BARWALA ROAD) | SAS NAGAR | REGULAR | 100 | ОВС | DC | 35 | 35 | 1225 | 32 | 75 | Draw of lots | 15 | 4 |
| 299 | WITHIN NAYAGAON MUNICIPAL COUNCIL, PUNJAB (ON MINIMUM 20 FEET ROAD) | SAS NAGAR | REGULAR | 100 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of lots | 0 | 3 |
| 300 | WITHIN 3 KM FROM GRAND IMPERIAL MOHALI ON NH-205A (OUTSIDE KHARAR MUNICIPAL LIMITS), LHS WHILE GOING TO LANDRAN FROM KHARAR | SAS NAGAR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of lots | 15 | 5 |
| 301 | ON VIP ROAD ZIRAKPUR | SAS NAGAR | REGULAR | 150 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | Draw of lots | 15 | 5 |
| 302 | IN NEW CHANDIGARH ON KURALI CHANDIGARH ROAD | SAS NAGAR | REGULAR | 100 | ОВС | DC | 20 | 20 | 400 | 32 | 55 | Draw of lots | 15 | 4 |
| 303 | ON PR7 ROAD STARTING FROM PRIME HOSPITAL SECTOR 125 TO SILVER BIRCH, OMAXE NEW CHANDIGARH | SAS NAGAR | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of lots | 15 | 5 |
| 304 | ON PR7 ROAD STARTING FROM OMAXE CLOCKTON MARKET TO SUVIDHA KENDRA RANAI MAJRA | SAS NAGAR | REGULAR | 100 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of lots | 0 | 3 |
| 305 | ON ANY MINIMUM 60 FEET ROAD IN VILLAGE BHABAT, WITHIN MUNICIPAL LIMITS OF ZIRAKPUR | SAS NAGAR | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | Draw of lots | 15 | 5 |

| 306 | IN VILLAGE MULLANPUR GARIBDAS, ON KURALI CHANDIGARH ROAD | SAS NAGAR | REGULAR | 100 | ОВС | DC | 20 | 20 | 400 | 32 | 55 | Draw of lots | 15 | 4 |
|-----|---|-----------|---------|-----|---------|-----|----|----|------|----|----|-----------------|----|---|
| 307 | ON ANY MINIMUM 60 FEET ROAD IN VILLAGE DHAKOLI, WITHIN MUNICIPAL LIMITS OF ZIRAKPUR | SAS NAGAR | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | Draw of lots | 15 | 5 |
| 308 | ON ANY MINIMUM 60FEET ROAD IN MOHALI SECTOR 88 | SAS NAGAR | REGULAR | 150 | SC PH | CFS | 20 | 20 | 400 | 0 | 0 | Draw of lots | 0 | 3 |
| 309 | ON ANY MINIMUM 60FEET ROAD IN MOHALI SECTOR 93 | SAS NAGAR | REGULAR | 150 | OBC PH | DC | 20 | 20 | 400 | 32 | 75 | Draw of lots | 15 | 4 |
| 310 | ON LALRU-BANUR ROAD, STARTING FROM LEHLI UPTO INTERSECTION WITH NH 205A | SAS NAGAR | RURAL | 50 | SC CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | Draw of lots | 0 | 2 |
| 311 | VILLAGE CHHAT, TEHSIL ZIRAKPUR (ON MINIMUM 20 FEET ROAD) | SAS NAGAR | RURAL | 50 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | Draw of lots | 5 | 4 |
| 312 | VILLAGE JAWAHARPUR, TESHIL DERABASSI (ON MINIMUM 20 FEET ROAD) | SAS NAGAR | RURAL | 50 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | Draw of lots | 5 | 4 |
| 313 | VILLAGE SOHANA, TEHSIL MOHALI (ON MINIMUM 20 FEET ROAD) | SAS NAGAR | RURAL | 50 | ОВС | DC | 30 | 30 | 900 | 16 | 35 | Draw of lots | 5 | 3 |
| 314 | ON RHS, FROM KM STONE 431 TO 435 ON NH3 (FROM JALANDHAR TO AMRITSAR) | AMRITSAR | REGULAR | 250 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 315 | ON RHS, FROM NAWAN PIND TO RASOOLPUR KALAN ON NH503A (FROM AMRITSAR TO MEHTA ROAD) | AMRITSAR | REGULAR | 180 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 316 | FROM SULTAN MAHAL TO RAMDAS ON AJNALA RAMDAS ROAD (NH354) | AMRITSAR | REGULAR | 150 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |

| 317 | WITHIN MUNICIPAL LIMITS OF AMRITSAR CITY, ON LHS FROM CELEBRATION MALL TO APEX HOSPITAL ON BATALA ROAD | AMRITSAR | REGULAR | 225 | OPEN | DC | 18 | 15 | 270 | 32 | 75 | Draw of Lots | 15 | 5 |
|-----|--|----------|---------|-----|------------|-----|----|----|------|----|----|-----------------|----|---|
| 318 | ON RHS, FROM KM STONE 22 TO 27 ON NH3 (AMRITSAR BYE PASS) | AMRITSAR | REGULAR | 220 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 319 | WITHIN MUNICIPAL LIMITS OF AMRITSAR, ON LHS FROM GOLDEN GATE TO ALPHA MALL | AMRITSAR | REGULAR | 200 | OPEN | DC | 18 | 15 | 270 | 32 | 55 | Draw of Lots | 15 | 5 |
| 320 | FROM KM STONE 5 TO 12 ON NH3 (ATTARI- AMRITSAR ROAD) | AMRITSAR | REGULAR | 160 | OBC CC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 321 | ON LHS, FROM FATEHGARH CHURIAN BYE PASS TO STREET NO. 4 ON AMRITSAR FATEHGARH CHURIAN ROAD | AMRITSAR | REGULAR | 150 | SC CC 1 | CFS | 18 | 15 | 270 | 0 | 0 | Draw of Lots | 0 | 3 |
| 322 | FROM MIRANKOT CHOWK TO SHIVA ENCLAVE ON NH354 (FROM AMRITSAR TO AJNALA ROAD) | AMRITSAR | REGULAR | 208 | OPEN PH | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 323 | ON RHS, FROM KM STONE 92 TO 99 ON NH54 (FROM GURDASPUR TO AMRITSAR) | AMRITSAR | REGULAR | 200 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 324 | ON LHS, FROM KM STONE 90 TO 95 ON NH54 (FROM GURDASPUR TO AMRITSAR) | AMRITSAR | REGULAR | 160 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 325 | IN OR WITHIN 5 KMS OF VILLAGE BALAGGAN ON AMRITSAR RING ROAD | AMRITSAR | REGULAR | 200 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 326 | WITHIN MUNICIPAL LIMITS OF AMRITSAR CITY ON ANY ROAD OF MINIMUM 60 FT WIDTH | AMRITSAR | REGULAR | 150 | OPEN | DC | 18 | 15 | 270 | 32 | 75 | Draw of Lots | 15 | 5 |

| 327 | IN OR WITHIN 1 KMS FROM VILLAGE PANJGRAIN NIJJRAN, ON NEW AJNALA BYE PASS ROAD | AMRITSAR | REGULAR | 150 | ОВС | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
|-----|--|----------|---------|-----|------|-----|----|----|------|----|----|-----------------|----|---|
| 328 | FROM NASHERA TO PANDORI WARAICH ON AMRITSAR MAJITHA ROAD | AMRITSAR | REGULAR | 150 | OPEN | DC | 18 | 15 | 270 | 32 | 75 | Draw of Lots | 15 | 5 |
| 329 | ON LHS, IN OR WITHIN 1KM OF VILLAGE AKALGARH DHUPIAN ON NH503A (FROM AMRITSAR TO MEHTA) | AMRITSAR | REGULAR | 180 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 330 | FROM GOLDEN GATE TO JANDIALA GURU ON NH3 (AMRITSAR JALANDHAR ROAD) | AMRITSAR | REGULAR | 250 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 331 | ON RHS, FROM KM STONE 427 TO 431 ON NH3 (FROM JALANDHAR TO AMRITSAR ROAD) | AMRITSAR | REGULAR | 250 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 332 | IN OR WITHIN 1 KM OF VILLAGE DADDUANA ON NH 503A (AMRITSAR - MEHTA ROAD) | AMRITSAR | REGULAR | 200 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 333 | ON RHS, FROM KM STONE 420 TO 422 ON NH-3 (JALANDHAR TO AMRITSAR) | AMRITSAR | REGULAR | 160 | OPEN | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 5 |
| 334 | FROM VILLAGE SATHIALA (EXCLUDING) TO MEHTA CHOWK ON NH 503D (BEAS BATALA ROAD) | AMRITSAR | REGULAR | 180 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 335 | FROM VILLAGE BOPARAI TO VILLAGE NATH DI KHUI ON NH 503A (AMRITSAR - MEHTA ROAD) | AMRITSAR | REGULAR | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 336 | IN OR WITHIN 2 KM FROM VILLAGE MOHLEKE ON MOHLEKE BHINDI SAIDAN ROAD | AMRITSAR | RURAL | 100 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |

| 337 | IN OR WITHIN 1 KM OF VILLAGE KHYALA KHURD ON AMRITSAR CHOGAWAN ROAD | AMRITSAR | RURAL | 100 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
|-----|--|-----------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 338 | IN OR WITHIN 1KM FROM VILLAGE CHAWINDA DEVI ON KATHUNANGAL TO BOPARAI ROAD | AMRITSAR | RURAL | 70 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 339 | IN OR WITHIN 2 KMS OF VILLAGE CHAMIARI ON AJANALA FATEHGARH CHURIAN ROAD | AMRITSAR | RURAL | 70 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |
| 340 | IN OR WITHIN 1 KM FROM VILLAGE NAG KALAN ON AMRITSAR TO MAJITHA ROAD | AMRITSAR | RURAL | 70 | ОВС | сс | 35 | 35 | 1225 | 16 | 6 | Bidding | 10 | 3 |
| 341 | IN OR WITHIN 1 KMS FROM VILLAGE MAHAWA ON ATTARI TO CHABAL ROAD | AMRITSAR | RURAL | 75 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 342 | VILLAGE DHARAR ON JANDIALA GURU TO VEROWAL ROAD | AMRITSAR | RURAL | 78 | OPEN CC 1 | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 343 | IN OR WITHIN 1 KM FROM VILLAGE MANDIALA ON BOHRU TO MANDIALA ROAD | AMRITSAR | RURAL | 70 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |
| 344 | WITHIN MUNICIPAL LIMIT OF BATALA CITY ON ANY ROAD OF MIN 60 FEET WIDTH | GURDASPUR | REGULAR | 120 | OBC | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 345 | ON LHS, FROM KM STONE 58 TO 60 ON NH-54 (GURDASPUR TO AMRITSAR) | GURDASPUR | REGULAR | 150 | OPEN CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 346 | WITHIN MUNICIPAL LIMIT OF BATALA CITY ON ALIWAL ROAD | GURDASPUR | REGULAR | 110 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 347 | ON LHS , FROM GURU NANAK COLD STORAGE TO GURDWARA SAHIB GURU NANAK PARKASH ON NH 503D (JALANDHAR - BATALA BYPASS) | GURDASPUR | REGULAR | 160 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |

| 348 | ON RHS , FROM KM STONE 61 TO 63 ON NH54 (GURDASPUR TO AMRITSAR) | GURDASPUR | REGULAR | 150 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
|-----|--|-----------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 349 | ON LHS, WITHIN 2 KM OF BABA NAMDEV DEGREE COLLEGE ON NH 503A TOWARDS SHRI HARGOBINDPUR | GURDASPUR | REGULAR | 180 | OPEN | сс | 40 | 45 | 1800 | 32 | 12 | Bidding | 30 | 5 |
| 350 | ON LHS, FROM VILLAGE VEROKE TO VILLAGE SHAMPURA ON NH354 (DERA BABA NANAK TO AJNALA) | GURDASPUR | REGULAR | 150 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 351 | ON LHS, FROM KM STONE 16 TO 18 ON NH54 (FROM PATHANKOT TO GURDASPUR) | GURDASPUR | REGULAR | 185 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 352 | RHS, FROM KM STONE 16 TO 25 ON NH54 (FROM PATHANKOT TO AMRITSAR) | GURDASPUR | REGULAR | 190 | ОВС | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 353 | WITHIN MUNICIPAL LIMIT OF DERA BABA NANAK ON ANY ROAD OF MINIMUM 60 FEET WIDTH | GURDASPUR | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 354 | ON LHS, FROM KM STONE 164 TO 180 ON NH 354 (GURDASPUR TO DEBA BABA NANAK) | GURDASPUR | REGULAR | 160 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 355 | ON LHS, FROM KM STONE 42 TO 52 ON NH54, (FROM PATHANKOT TO AMRITSAR) | GURDASPUR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 356 | ON RHS, FROM KM STONE 40 TO 55 ON NH54 (FROM PATHANKOT TO AMRITSAR) | GURDASPUR | REGULAR | 200 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 357 | WITHIN MUNICIPAL LIMIT OF GURDASPUR CITY ON ANY ROAD OF MINIMUM 60 FEET WIDTH | GURDASPUR | REGULAR | 115 | OPEN CC 1 | сс | 20 | 20 | 400 | 32 | 12 | Bidding | 30 | 5 |

| 1 | | | | | | | | | | | | | | |
|-----|---|------------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 358 | VILLAGE FATTUPUR ON ADALATPUR TO ATHWAL ROAD | GURDASPUR | RURAL | 85 | OPEN CC 1 | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 359 | FROM VILLAGE DHARAMKOT BAGGA TO VILLAGE BHAGOWAL ON BATALA TO BHAGOWAL ROAD | GURDASPUR | RURAL | 70 | ОВС | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |
| 360 | FROM VILLAGE KAHLWAN TO VILLAGE NAVI KIRRI ON BATALA - HARCHOWAL ROAD | GURDASPUR | RURAL | 80 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | Draw of Lots | 5 | 4 |
| 361 | IN OR WITHIN 2 KM OF VILLAGE FAZLABAD ON BATALA - KALANAUR ROAD | GURDASPUR | RURAL | 80 | OPEN | сс | 35 | 35 | 1225 | 16 | 6 | Bidding | 10 | 4 |
| 362 | FROM VILLAGE TIBAR TO VILLAGE SAIDPUR HARNI ON GURDASPUR TO SRI HARGOBINDPUR ROAD | GURDASPUR | RURAL | 100 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 363 | VILLAGE BHATTIAN ON BHITEWAD TO BHATTIAN ROAD | GURDASPUR | RURAL | 80 | ОВС | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |
| 364 | VILLAGA MARARA ON TARAGARH TO BAHMANI ROAD | GURDASPUR | RURAL | 95 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |
| 365 | VILLAGE JHAKHARPINDI ON DINANAGAR TO TARAGARH ROAD | GURDASPUR | RURAL | 70 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |
| 366 | FROM VILLAGE KALA BALA TO VILLAGE SEKHWAN ON KAHNUWAN TO BATALA ROAD | GURDASPUR | RURAL | 80 | ОВС | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |
| 367 | ON RHS, FROM VILLAGE MEHTIANA TO VILLAGE PURHIRAN ON NH 344B (FROM PHAGWARA TO HOSHIARPUR ROAD) | HOSHIARPUR | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 368 | ON RHS, FROM VILLAGE DHADIALA TO VILLAGE AKHLASPUR ON NH 503A (FROM TANDA TO HOSHIARPUR) | HOSHIARPUR | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |

| 369 | WITHIN MUNICIPAL LIMITS OF HOSHIARPUR CITY ON DHOBI CHOWK TO SHAHEED BHAGAT SINGH CHOWK ROAD | HOSHIARPUR | REGULAR | 200 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
|-----|--|------------|---------|-----|------|-----|----|----|------|----|----|-----------------|----|---|
| 370 | ON RHS, FROM KM STONE 60 TO 70, ON SH 24 (FROM GARHSHANKAR TO HOSHIARPUR) | HOSHIARPUR | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 4 |
| 371 | ON LHS, FROM VILLAGE MANDIALA TO VILLAGE SINGRIWALA ON NH 3 (FROM JALANDHAR TO HOSHIARPUR) | HOSHIARPUR | REGULAR | 200 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 372 | ON RHS, FROM KM STONE 385 TO 394 ON NH 44 (FROM PATHANKOT TO JALANDHAR) | HOSHIARPUR | REGULAR | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 373 | ON LHS, FROM KM STONE 380 TO 405 ON NH 44 (FROM PATHANKOT TO JALANDHAR) | HOSHIARPUR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 374 | ON LHS, FROM KM STONE 43 TO 51, ON SH 24 (FROM BALACHAUR TO GARHSHANKAR) | HOSHIARPUR | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 4 |
| 375 | ON LHS, FROM KM STONE 420 TO 429 ON NH 44 (FROM PATHANKOT TO JALANDHAR) | HOSHIARPUR | REGULAR | 200 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 376 | ON RHS, FROM VILLAGE MANDIALA TO VILLAGE CHOHAL ON NH 3 (FROM JALANDHAR TO CHINTPURNI ROAD) | HOSHIARPUR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 377 | WITHIN MUNICPAL LIMITS OF HARIANA TOWN ON ANY ROAD OF MINIMUM 60 FEET WIDTH | HOSHIARPUR | REGULAR | 120 | ОВС | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 378 | WITHIN MUNICIPAL LIMITS OF HOSHIARPUR CITY ON ANY ROAD OF MINIMUM 60 FEET WIDTH | HOSHIARPUR | REGULAR | 150 | OPEN | DC | 18 | 15 | 270 | 32 | 55 | Draw of Lots | 15 | 5 |

| 379 | ON LHS, FROM VILLAGE MEHTIANA TO VILLAGE PURHIRAN ON NH 344B (FROM PHAGWARA TO HOSHIARPUR ROAD) | HOSHIARPUR | REGULAR | 150 | OPEN CC 2 | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
|-----|---|------------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 380 | ON LHS, FROM VILLAGE NANOWAL VAID TO VILLAGE KHARKAN ON NH 503A (FROM TANDA TO HOSHIARPUR ROAD) | HOSHIARPUR | REGULAR | 150 | OBC CC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 381 | WITHIN MUNICIPAL LIMITS OF URMAR TANDA TOWN ON ANY ROAD OF MINIMUM 60 FEET WIDTH | HOSHIARPUR | REGULAR | 100 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 382 | ON RHS, FROM KM STONE 49 TO 51, ON SH 24 (FROM BALACHAUR TO GARHSHANKAR) | HOSHIARPUR | REGULAR | 100 | OBC | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 4 |
| 383 | WITHIN MUNICIPAL LIMITS OF TALWARA ON ANY ROAD OF MINIMUM 60 FEET WIDTH | HOSHIARPUR | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 384 | ON RHS, FROM VILLAGE: CHAKRIAL TO VILLAGE: BHERA, ON HAJIPUR TO TALWARA ROAD | HOSHIARPUR | RURAL | 150 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 385 | VILLAGE: GHOGRA, TEHSIL: DASUYA ON DASUYA TO HAJIPUR ROAD | HOSHIARPUR | RURAL | 100 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 386 | FROM VILLAGE: DENOWAL KHURD TO VILLAGE: RASULPUR ON GARHSHANKAR TO NAWASHAHAR ROAD | HOSHIARPUR | RURAL | 120 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |
| 387 | VILLAGE: NANGAL BIHALA, TEHSIL: HAJIPUR ON DASUYA TO HAJIPUR ROAD | HOSHIARPUR | RURAL | 120 | ОВС | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |
| 388 | WITHIN MUNICIPAL LIMITS OF JALANDHAR CITY ON RHS, FROM GURU NANAK MISSION CHOWK TO FOOTBALL CHOWK | JALANDHAR | REGULAR | 300 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |

| 389 | WITHIN MUNICIPAL LIMITS OF JALANDHAR CITY FROM DOABA CHOWK TO KISHANPURA CHOWK | JALANDHAR | REGULAR | 250 | OBC | DC | 20 | 20 | 400 | 32 | 75 | Draw of Lots | 15 | 4 |
|-----|---|-----------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 390 | WITHIN MUNICIPAL LIMITS OF JALANDHAR ON NH703 (JALANDHAR- MOGA ROAD) | JALANDHAR | REGULAR | 190 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 391 | WITHIN MUNICIPAL LIMITS OF KARTARPUR, LHS ON NH3 FROM JALANDHAR TO AMRITSAR | JALANDHAR | REGULAR | 200 | sc | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 392 | WITHIN MUNICIPAL LIMITS OF JALANDHAR CITY ON GT ROAD/PAP TO BMC CHOWK ROAD/COOL ROAD/66FEET ROAD. | JALANDHAR | REGULAR | 200 | ОВС | DC | 18 | 15 | 270 | 32 | 55 | Draw of Lots | 15 | 4 |
| 393 | WITHIN MUNICIPAL LIMITS OF JALANDHAR CITY ON LHS, FROM GURU NANAK MISSION CHOWK TO KAPURTHALA CHOWK | JALANDHAR | REGULAR | 300 | OPEN | DC | 18 | 15 | 270 | 32 | 75 | Draw of Lots | 15 | 5 |
| 394 | WITHIN MUNICIPAL LIMITS OF JALANDHAR CITY ON LHS, FROM BMC CHOWK TO GURU NANAK MISSION CHOWK | JALANDHAR | REGULAR | 300 | OPEN | СС | 20 | 20 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 395 | WITHIN MUNICIPAL LIMITS OF JALANDHAR CITY FROM RAMAMANDI CHOWK TOWARDS HOSHIARPUR | JALANDHAR | REGULAR | 200 | ОВС | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 396 | WITHIN MUNICIPAL LIMITS OF JALANDHAR CITY FROM SHREE RAM CHOWK TO BIDHIPUR FATAK. | JALANDHAR | REGULAR | 200 | sc | CFS | 18 | 15 | 270 | 0 | 0 | Draw of Lots | 0 | 3 |
| 397 | ON RHS, FROM VILLAGE HAZARA TO ADAMPUR ON NH3 (FROM JALANDHAR TO HOSHIARPUR) | JALANDHAR | REGULAR | 170 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |

| 398 | IN OR WITHIN 2 KMS OF VILLAGE MANDER ON NH- 3, LHS WHILE MOVING FROM ADAMPUR TO HOSHIARPUR | JALANDHAR | REGULAR | 170 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
|-----|--|-----------|---------|-----|--------|-----|----|----|------|----|----|-----------------|----|---|
| 399 | WITHIN MUNICIPAL LIMITS OF JALANDHAR CITY ON NH44 | JALANDHAR | REGULAR | 150 | ОВС | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 400 | ON LHS, FROM KM STONE 30 TO 50 ON NH703 (JALANDHAR TO MOGA) | JALANDHAR | REGULAR | 150 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 401 | WITHIN MUNICIPAL LIMITS OF JALANDHAR CITY ON ANY ROAD OF MINIMUM 60 FEET WIDTH (NOT ON NH) | JALANDHAR | REGULAR | 200 | OPEN | DC | 18 | 15 | 270 | 32 | 75 | Draw of Lots | 15 | 5 |
| 402 | WITHIN MUNICIPAL LIMITS OF JALANDHAR CITY FROM PATHANKOT CHOWK ON NH3 | JALANDHAR | REGULAR | 200 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 403 | ON RHS, FROM KM STONE 19 TO 50 ON NH703 (FROM JALANDHAR TO MOGA) | JALANDHAR | REGULAR | 170 | OBC PH | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 404 | WITHIN MUNICIPAL LIMITS OF NAKODAR TOWN ON ANY ROAD OF MINIMUM 60 FEET WIDTH (NOT ON NH) | JALANDHAR | REGULAR | 130 | SC PH | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 405 | ON RHS, FROM KM STONE 444 TO 448 ON NH-44 (FROM PATHANKOT TO JALANDHAR) | JALANDHAR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 406 | IN OR WITHIN 1 KMS OF VILLAGE SHAKARPUR ON NH-44 (FROM JALANDHAR TO PATHANKOT ROAD) | JALANDHAR | REGULAR | 160 | OPEN | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 5 |
| 407 | FROM KM STONE 492 TO 495 ON NH 44, LHS TOWARDS JALANDHAR | JALANDHAR | REGULAR | 200 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 408 | FROM VILLAGE KANGNIWAL TO JANDIALA, ON JAMSHER- JANDIALA ROAD | JALANDHAR | RURAL | 100 | OPEN | СС | 35 | 35 | 1225 | 16 | 6 | Bidding | 10 | 4 |

| 409 | FROM ADAMPUR (OML) TO KISHANGARH ON KISHANGARH-ADAMPUR ROAD | JALANDHAR | RURAL | 90 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |
|-----|---|------------|---------|-----|------|-----|----|----|------|----|----|-----------------|----|---|
| 410 | ON 66 FT ROAD OUTSIDE MUNICIPAL LIMIT OF JALANDHAR CITY | JALANDHAR | RURAL | 130 | ОВС | DC | 30 | 30 | 900 | 16 | 35 | Draw of Lots | 5 | 3 |
| 411 | FROM OML OF SHAHKOT TO PUNIA ON SHAHKOT TO PUNIA ROAD | JALANDHAR | RURAL | 100 | OPEN | сс | 35 | 35 | 1225 | 16 | 6 | Bidding | 10 | 4 |
| 412 | ON LOHIAN-SULTANPUR LODHI ROAD, WITHIN JALANDHAR DISTRICTS | JALANDHAR | RURAL | 100 | ОВС | сс | 30 | 30 | 900 | 16 | 6 | Bidding | 10 | 3 |
| 413 | VILLAGE MEHMUWAL MAHALAN ON RUPEWALI- LOHIAN ROAD | JALANDHAR | RURAL | 80 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |
| 414 | VILLAGE NIJJRAN, ON JALANDHAR TO KALA SANGHIAN ROAD | JALANDHAR | RURAL | 70 | OPEN | сс | 30 | 30 | 900 | 16 | 6 | Bidding | 10 | 4 |
| 415 | VILLAGE PHOLRIWAL ON JALANDHAR JANDIALA ROAD | JALANDHAR | RURAL | 120 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 416 | VILLAGE CHAK SAHBU ON PHILLAUR TO BANGA ROAD | JALANDHAR | RURAL | 80 | ОВС | сс | 35 | 35 | 1225 | 16 | 6 | Bidding | 10 | 3 |
| 417 | IN OR WITHIN 2 KMS OF VILLAGE NAHAL ON RAJOWAL KOT BADAL NURMAHAL ROAD | JALANDHAR | RURAL | 70 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 418 | FROM JANDIALA TO NURMAHAL, ON JANDIALA-NURMAHAL ROAD | JALANDHAR | RURAL | 70 | OBC | DC | 30 | 30 | 900 | 16 | 35 | Draw of Lots | 5 | 3 |
| 419 | ON LHS, FROM KM STONE 400 TO 402 ON NH3 TOWARDS AMRITSAR | KAPURTHALA | REGULAR | 200 | ОВС | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 4 |
| 420 | WITHIN MUNICIPAL LIMITS OF PHAGWARA ON ANY ROAD OF MINIMUM 60 FEET WIDTH | KAPURTHALA | REGULAR | 160 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 421 | IN OR WITHIN 1 KM OF VILLAGE MAHABLIPUR, ON NH 703A (SULTANPUR LODHI TO HARIKE) | KAPURTHALA | REGULAR | 200 | ОВС | сс | 40 | 45 | 1800 | 32 | 12 | Bidding | 30 | 4 |

| 422 | WITHIN 3 KM FROM CABBANA RESORT ON NH- 44, LHS TOWARDS LUDHIANA | KAPURTHALA | REGULAR | 250 | OPEN | сс | 40 | 45 | 1800 | 32 | 12 | Bidding | 30 | 5 |
|-----|--|------------|---------|-----|------------|-----|----|----|------|----|----|-----------------|----|---|
| 423 | FROM LPU TO VILLAGE SAPROR NANGAL ON NH 44, LHS TOWARDS LUDHIANA | KAPURTHALA | REGULAR | 200 | sc | CFS | 40 | 45 | 1800 | 0 | 0 | Draw of Lots | 0 | 3 |
| 424 | IN OR WITHIN 1 KMS FROM VILLAGE BHABHIANA ON LHS FROM PHAGWARA TO HOSHIARPUR ROAD (NH 344B) | KAPURTHALA | REGULAR | 150 | OBC | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 4 |
| 425 | ON LHS, FROM KM STONE 0 TO 3 ON NH 344A TOWARDS CHANDIGARH | KAPURTHALA | REGULAR | 160 | ОВС | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 4 |
| 426 | WITHIN 3 KM FROM CABBANA RESORT ON NH- 44, LHS TOWARDS JALANDHAR | KAPURTHALA | REGULAR | 200 | OPEN | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 5 |
| 427 | IN OR WITHIN 3 KMS OF VILLAGE DHAM, ON KAPURTHALA TO SUBHANPUR ROAD | KAPURTHALA | RURAL | 70 | OBC CC | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |
| 428 | IN OR WITHIN 2 KMS OF NADALA CHOWK TOWARDS BEGOWAL ON NADALA BEGOWAL ROAD | KAPURTHALA | RURAL | 70 | SC CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 2 |
| 429 | VILLAGE BHOLATH ON BHOLATH TO NADALA ROAD | KAPURTHALA | RURAL | 80 | OPEN PH | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 430 | FROM VILLAGE BUDHA THEH TO PADDA BET ON DHILWAN TO UCHA LINK ROAD | KAPURTHALA | RURAL | 70 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 431 | IN OR WITHIN 5 KMS OF VILLAGE DALLA, TOWARDS SULTANPUR LODHI ON JALANDHAR SULTANPUR LODHI ROAD | KAPURTHALA | RURAL | 70 | sc | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 |
| 432 | VILLAGE TANDI AULAKH ON BHOGPUR TO BEGOWAL ROAD | KAPURTHALA | RURAL | 70 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |

| 433 | WITHIN MUNICIPAL LIMIT OF PATHANKOT CITY ON ANY ROAD OF MINIMUM 60 FEET WIDTH | PATHANKOT | REGULAR | 120 | ОВС | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
|-----|--|-----------|---------|-----|--------------|-----|----|----|------|----|----|-----------------|----|---|
| 434 | FROM DHAR KALAN TO DUNERA ON NH154A (FROM PATHANKOT TO DALHOUSIE ROAD) | PATHANKOT | REGULAR | 150 | sc | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 435 | WITHIN MUNICIPAL LIMIT OF SUJANPUR ON SUJANPUR-JHANDPUR ROAD | PATHANKOT | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 436 | FROM VILLAGE BHERI BAZURG TO VILLAGE MUTFAROA ON DEFENCE ROAD | PATHANKOT | RURAL | 110 | OPEN | сс | 35 | 35 | 1225 | 16 | 6 | Bidding | 10 | 4 |
| 437 | FROM KHANPUR CHOWK TO GOSAINPUR ON PATHANKOT-GOSAINPUR ROAD | PATHANKOT | RURAL | 100 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 438 | VILLAGE JANIAL ON BAMIYAL TO JANIAL ROAD | PATHANKOT | RURAL | 80 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 439 | WITHIN MUNICIPAL LIMITS OF SBS NAGAR ON NAWASHAHR-BANGA ROAD | SBS NAGAR | REGULAR | 160 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 440 | ON RHS, FROM KM STONE 36 TO 39 ON NH-344A TOWARDS CHANDIGARH | SBS NAGAR | REGULAR | 150 | OPEN | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 5 |
| 441 | ON LHS, FROM KM STONE 29 TO 38 ON NH-344A TOWARDS CHANDIGARH | SBS NAGAR | REGULAR | 150 | OPEN CC 1 | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 5 |
| 442 | WITHIN MUNICIPAL LIMITS OF KAPURTHALA ON ANY ROAD OF MINIMUM 60 FEET WIDTH (NOT ON NH) | SBS NAGAR | REGULAR | 160 | sc | CFS | 18 | 15 | 270 | 0 | 0 | Draw of Lots | 0 | 3 |
| 443 | WITHIN MUNICIPAL LIMITS OF BALACHAUR TOWN ON ANY ROAD OF MINIMUM 60 FEET WIDTH | SBS NAGAR | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 444 | FROM KM STONE 64 TO 84 ON NH 344A (PHAGWARA TO RUPNAGAR ROAD) | SBS NAGAR | REGULAR | 150 | SC CC 1 | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |

| | 1 | | | | | | | | | | | | | |
|-----|--|------------|---------|-----|------|----|----|----|------|----|----|-----------------|----|---|
| 445 | ON LHS, FROM KM STONE 37 TO 41, ON SH 24 (FROM BALACHAUR TO GARHSHANKAR) | SBS NAGAR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | Draw of Lots | 15 | 5 |
| 446 | VILLAGE SAIDPUR KALAN, ON RAHON MACHHIWARA ROAD | SBS Nagar | RURAL | 80 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 447 | VILLAGE THANDIAN ON BANGA TO GARHSHANKAR ROAD | SBS Nagar | RURAL | 70 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 448 | VILLAGE HAKIMPUR ON APRA TO HAKIMPUR ROAD | SBS Nagar | RURAL | 80 | ОВС | сс | 35 | 35 | 1225 | 16 | 6 | Bidding | 10 | 3 |
| 449 | VILLAGE PALLIAN KALAN ON PALIAN KALAN TO RAHON ROAD | SBS Nagar | RURAL | 80 | ОВС | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |
| 450 | VILLAGE KHAIR DINKE ON NH 354 (FROM AMRITSAR TO KHEMKARAN) | TARN TARAN | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 451 | ON RHS, FROM MANDI WALA CHOWK TO GURDWARA BABA MALIK ON TARN TARAN BYPASS | TARN TARAN | REGULAR | 110 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 452 | ON LHS, FROM VILLAGE SUR SINGH TO VILLAGE CHHICHHREWAL ON NH 354 (FROM BHIKHIWIND TO AMRITSAR) | TARN TARAN | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 453 | ON RHS , FROM KM STONE 39 TO 41 ON NH 354 (FROM KHEM KARAN TO BHIKHIWIND) | TARN TARAN | REGULAR | 150 | ОВС | DC | 40 | 45 | 1800 | 32 | 95 | Draw of Lots | 15 | 4 |
| 454 | FROM VILLAGE RASUL PUR TO SARHALI KHURD ON PATTI - TARN TARAN ROAD | TARN TARAN | RURAL | 80 | OPEN | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 4 |
| 455 | FROM GURDWARA DAMDAMA SAHIB TO SRI FATEHABAD JI GURDWARA ON TARN TARAN - KAPURTHALA ROAD | TARN TARAN | RURAL | 70 | OBC | DC | 35 | 35 | 1225 | 16 | 35 | Draw of Lots | 5 | 3 |

| 456 | FROM VILLAGE SARAI AMANAT KHAN TO VILLAGE SHAPPA ON CHABAL TO ATTARI ROAD | TARN TARAN | RURAL | 70 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 2 | |
|-----|---|------------|-------|----|----|-----|----|----|------|---|---|-----------------|---|---|--|
|-----|---|------------|-------|----|----|-----|----|----|------|---|---|-----------------|---|---|--|

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by **27/09/2023**.

| Type of | Туре | Category | Applicat | Туре | Туре | Category | Application |
|---------|------|----------|----------|-------|------|----------|-------------|
| RO | of | | ion fee | of RO | of | | fee in Rs. |
| | Site | | in Rs. | | Site | | |
| | | | | | | | |
| | | | | | | | |
| Regular | CFS | SC/ST | 3000 | Dural | CFS | SC/ST | 2500 |
| DO - | 66 | ODC | F000 | Rural | | ODC | 4000 |
| ROs | CC | OBC | 5000 | ROs | CC | OBC | 4000 |
| | CC | Open | 10000 | | CC | Open | 8000 |
| | | | | | | | |
| | DC | OBC | 5000 | | DC | OBC | 4000 |
| | DC | Open | 10000 | | DC | Open | 8000 |
| | | 0 000.1 | 10000 | | | 0 00.1 | 2200 |

^{*} The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of **10** years and renewable every **10** years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following addresses: -

Address1: Hindustan Petroleum Corporation Limited Bathinda Retail Regional Office, Urban Estate, Phase-II, Part-II, Bathinda-

151001

Districts- Bathinda, Mansa, Moga, Faridkot, Ferozepur, Fazilka and Muktsar

Contact No. - 0164-2240015, 828480408

Address2: Hindustan Petroleum Corporation Limited Retail Regional, Office, Plot No 6A, Tel Bhavan, Sector 19-B, Chandigarh –

160019

Districts- Roopnagar, SAS Nagar, Barnala, Sangrur, Malerkotla, Chandigarh, Fatehgarh Sahib, Ludhiana and Patiala

Contact No. - 0172-5046507, 6239895149

Address3: Hindustan Petroleum Corporation Limited Jalandhar Retail Regional & Office, Suchi Pind, G T Road Bye Pass, Jalandhar

-144009

Districts- Jalandhar, Amritsar, Taran Taran, Gurdaspur, Pathankot, Kapurthala, Hoshiarpur and SBS Nagar

Contact No. - 0181-2421771, 7087228457